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Objective Question

2 703502
The masses and weights of some objects on the Moon were plotted against

the same quantities on the Earth. The two graphs would appear as
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Objective Question
3 703503 20 (0.3
Choose the arrangement in the increasing order of size for an average human
being:-

A: arm, B: toe, C: head, D: heart.

A,B,C,D

L] 1
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U JtEd gae & faT @R & ded FA B g
A: 37T, B: R &Y 39Tl C: R, D: e

1. A,B,C,D
2. B,D.CA
3. AB,D,C
4. B,C,D,A
ALy

1
A2,

2
A3

3
Aty

file:///C:/Users/Admin/Downloads/3_Live_LifeSc_E _B2/3 Live_ LifeSc_ E B2 1-145.html 2/125


https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

Addae™

3/3/25, 1:39 PM

Objective Question
4 703504

Objective Question
5 703505

file:///C:/Users/Admin/Downloads/3_Live_LifeSc_E _B2/3 Live_ LifeSc_ E B2 1-145.html

A3

GET IT ON
Google Play

2.0 0.2

3_Live_LifeSc_E_B2_1-145.html

In the fictional country of Vegereversia, which of the following provinces is the
odd one out?

PANGOTATOP
SULTORRAC
HIABIGOHON
SINNEGABBAC

ol L

Vegereversia (3SRafgarn) a1 &feud ¢ #§ Frafaf@a & @ &9 ar weor
fgera &2

PANGOTATOP

SULTORRAC

HIABIGOHON
SINNEGABBAC

L L e

Al
A2
A3
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20 (o3
How many 4-digit numbers can be generated from the digits 1, 2, 3, 4, 5, 6 and

7 such that no digit appears more than once, and ‘123’ always appear as a

string?
1.

2. 4
3

4. 12

1,2,3,4,5,6 3R 7 3@ ¥ 9R-3i% arenr et deaw giaa & o1 @@ §
fSE# v 3 U aR @ HUF 7 3T qU 123 FeF UH JTr A 12

1. 8
2 4
3 6
4. 12
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The bubble plot shows the relationship of Crop yield with precipitation and
temperature. The size of the bubble is proportional to temperature. Which one
of the following inferences CANNOT be drawn from the given plot?

[ ]
Crop yield =) ®,

1
2.
3.
4

Precipitation >

Crop yield is inversely related to temperature
Precipitation and temperature are inversely related
Crop yield and precipitation are positively related
Precipitation and temperature are positively related

A U v Ry & 3ifFg e (9o Telle) BHAT HT TS (Crop yield) FT
aul (Precipitation) 3R AYAE & T FAY F YT Id g1 F9d H
HIFR A & T 1 Rw v s & feafafed # @ # a
sy gl AT S @war §7

Crop yield ®

Bowom

Al
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A3

A4

L]
'.

Precipitation

BHell HT 3T HN AIHA § Tidhel HoY g

a7 UF dr9HE H RER Sfaged d9Y giar §

wEA T 3997 AR g & AT FERICAS (UATCHS) TEY §
W Ud YA & a9 TERICHS (YATCHS) TaY §

2.0 0.5
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Any 9 papers printed on both sides are drawn from a book. The sum of their
page numbers CAN NEVER be ;

mmwy%—ﬁﬁgqﬁﬁﬁwwﬁﬁmm%lmw

T3t #r AT ... w5 i) G @Y e
1. 199
2. 219
3. 235
4. 256
Aly
1
A2,
2
A3 5
3
Ay

Objective Question

8 703508 2.0 0.5

A rectangular sheet 31.4 cm x 10 cm is rolled across its length to make a
cylinder and both ends of the cylinder are covered with additional circular
sheets. What will be the total surface area of the covered cylinder
approximately?

1. 314 cm?
2. 3925cm?
3. 471cm?
4. 785cm?

31.4 BH x 10 ¥ & U HIAER M F @S F JTAHR AT TAT AT
38 et & qldl Rl # IfARed gearpr el & ew fGaramm 50 &F gu
Sl T Pel Al &1F IR fohcer glom?

1. 34T I
2. 3925 @A
3. 471@ @
4. 785a /A
Al
1
2
A3
3

Ay
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Objective Question

9 703509 20 03
The diagram shows the rate of diamonds of different sizes. Of what size is the

largest diamond that can be purchased for Rs.4.5 lakh?

O = N W b WU

Price (Lakh Rs/carat)

Weight of diamond (carat)

1.5 carat
2.25 carat
2.5 carat
4.5 carat

A R aw Ay & RBffea 3R F - fir ev weflia & 78 81 3. 45
o H fRAAT §8 HHR H ERT HT fRAT AT HHAT § ?(Price (Lakh
Rs/carat) - g7 (¥ @r@/#e); Weight of diamond - ¥ &1 8”0 (#32))

e D I

e M e
i
m 4 4+
>
o 3 4
o o
3 &
W
a 0 = t : : |
0 05 1 1.5 20 25
Weight of diamond (carat)
1. 158 e
2. 2.25 %
3. 25%%E
4. 45%TE
ALy
1
A2,
2
A3
3
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In a square land of 200 m x 200 m size, saplings are to be planted such that
the distance between the saplings as well as the distance of saplings from the
boundary of the land are not less than 20 m. What is the maximum number of
saplings that can be planted in the land?

64
81
90
100

Ll

200 #H1eX x 200 AET HHR H UF FedR HH A ol H 37 gHER Qur a7
¢ o diul & frg & gt aur #fA @ adar & b gl 20 Aex @
FA 7 g1l 39 HF F 30Fan Faw oG sene av I 2

1. 64
2. 81
3. 90
4. 100
Al
1
A2,
2
A3 5
3

A4

Objective Question

1703511 20 o3
A person covers 1/10, 1/6, and 1/5 of the total distance at speeds of 3 km/h, 5

km/h and 6 km/h, respectively. The remaining 16 km she covers at a speed of
16 km/h. How long does she take to travel the total distance?

1 hour

3 hours
4 hours
5 hours

N

U AfFd 3% @RI aF & S arel Fer gt & 1/10, 1/6, 3R 1/5 T H
a3 faleer, 5 frAvder A 6 FRAEer dr afa & FT wr g AW
gdr 16 forelt &1 amr &1 ag 16 frelyder & aifa & a &= 81 Fo g
TT A H 38 vagar g# g F@em?

1. 1dger

2. 3T

3. 4der

4. 5dcr
Al
1

A2
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Objective Question
12 703512 2.0 0.5

A person orders a 12-inch circular pizza online. The restaurant calls her back
and says that they ran out of 12-inch pizzas and instead offers the following
choices in circular pizzas. Which of them gives the best value for her money?

Six 4-inch pizzas
Four 6-inch pizzas
Seven 3-inch pizzas
Five 5-inch pizzas

B0 by X

U cafad 1239 arl e Aoe Al &g HiAenss ST #ar &1 e
arel 38 B G FEd ¢ [ 396 g 12-89 F1 Woan 39aey 7 § 3
& T W 3 38 AT 3Rt & Mo Weon & 3w 2T ) 38F g@nr
T 71T Hem W E I3rHR # Reen 37 w&fcdnwn qea am?

1. 4 g a@ og R
6 S A TR Riwa
3 g9 aw aa s
5 g ar e e

B ooy B

Al
{xz
A3
A4

Objective Question

13 703513 20 (0.5
On a spherical balloon of radius 10 cm, two dots are put at a distance of 25
units. If the balloon is uniformly expanded to a sphere of radius 50 cm, the
distance between the two dots in the same units would be

100
125
150
175

e

U 10 WA BITr & MR eEaR W 25 391 A g8 W 2 @ §1 3
SH AR H TAA T F Forax 50 FA Far & aen sa1 @ Sre ar
31 sIst 5 & e & v A gl gl

100
125
150
175

B 52 o
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Objective Question
14 703514 20 05
Three positive integers a, b, ¢, have a sum of 15. Then the minimum value of

(a-2)2 + (b-2)? + (c-2)? would be

Ao ATeHS quite a, b, c & AWT 15 Bl
ar (a-2)2 + (b-2)? + (c-2)2 &1 sgATH AT FT GIN?

25
27
29
31

il e

Al
:Az
A3
fM

Objective Question

15 703515 20 o3
How quickly must Rajesh drive the remaining distance to reach the city at an

average speed of 100 km/h if he travels halfway there at 50 km/h?

150 km/h
100 km/h
125 km/h
Average speed of 100 km/h is not possible in this case.

bl ol ol

e Torer o R gt & Y HET & 50 fREvEer # dtwa afa & G
ﬁﬁmama@ramq@ﬁaxmyﬁmomﬂm%‘mﬁﬁmq&ﬂ
a¥ FA F v fFae I & T Fame=r Ffge?

1. 150 frs/eer

2. 100 Fri/EEr

3. 125 FHvEer
4

=g AT # 100 BFaveEer Fr stwa afY gwg a8 @
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Objective Question

16 703516 20 0.3
To frame a portrait photo of 50 cm x 30 cm size, a 3 cm wide wooden strip is
to be fixed all around the photo such that the inner periphery of the wooden

strip touches the boundary of the photo. What is the total length of the
wooden strip required?

150 cm

1

2 172 cm
3. 180cm
4 184 cm

50 THT x 30 AT HHR HT UF U’ Bl H AR WP J A F F v 3
AT A S A vF I 3T YHER F s A g B gl i el
R ®r & aed Bt & ol g5 @l A 3w Qe nfEa awdr &
qeél &I Fel e FAT gEN?

1. 150 QY
2. 728
3. 180 @Y
4. 184 QAT

Objective Question
17 703517 2.0 0.5
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Waters having three different colours (Red-R, Green-G, Blue-B) and
temperatures: 4°C (R), 8°C (G) & 2°C (B), are put in a jar. How would these
colours appear in the jar initially?

dF R W (A1-R, §U-G, AlA-B) Td A9AE arel St 4°C (R), 8°C
(G) 3R 2°C (B), & Ush IR H @M 37| & W IR A IRfAS alvt W &HF

R
1 G
B
2 G
B
R
3 B
G
R
4 G
R
B
Al
1

A2
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Ad

The average of 10 distinct nonnegative integers is 14.5. The average of the
maximum and the minimum of these numbers is less than 15. Which of the
following is the maximum possible value of the minimum?

1. 8
2.9
3. 10
4. 1
10 Rffes FHoTerR QUi & s 145 §1 37 e & sfewad 3R

eI & A 15 § FA §| geIdH TEIT F FaIUS GATTad AT F4T
gram?

10
11

b

Al
A2
A3

A4

(2025)2025 _ (2025)2024 js NOT divisible by

8

13
23
33

el ey

(20252025 _ (2025)202 g T A1€T gref?

13
23
33

Erl s

Al
A2

A3
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Ay
4
20 03
Starting with a single triangle, every iteration adds smaller triangles at each of
the vertices inside the previous triangle as shown in the figure. The number of
vertices in the next iteration is:
A & t
1. 15
2. 42
3. 60
4. 18
U Tehel T3 @ RS & §U, 3HHT 9% I A o B & g3
Fld W UF BT BT 3 ST & Sar & Ry A @ w3 gl el
Imgfe # At i dear fras gei?
A & !
1. 15
2. 42
3. 60
4, 18
ALy
1
A2,
2
Ay
3
Ay
4
20 [os

The pKa of an amino acid side chain was measured in aqueous solution. Which
one of the following is the correct arrangement of the amino acids in the
decreasing order of their side chain pKa?

1 Serine > Lysine > Histidine > Aspartate
2. Lysine > Histidine > Aspartate > Serine
3. Aspartate > Histidine > Lysine > Serine
4. Serine > Histidine > Lysine > Aspartate

13/125
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STl e A e 3T e T ared g@ar & pKa FH AT =T AT A

A Pl TF, 3% RS YT pKa & T FH H G IFdl Fr @@ sgTed
g2

1. T > oA > RBieese > teuree
2. omEdEe > RS > teaee > adA
3. TooRee > RfEedT > asdia > &=
4 WA > REda > argda > wwuRee

fAl
?AZ
{%3
{\4

Objective Question
22 703522 2.0

0.5
Which one of the following bonds support the three intertwined polypeptide strands
in the triple helical structure of collagen?

1 Disulfide bonds
2. Hydrogen bonds
3. Co-ordinate bonds
4. lonic bonds
et seel & @ @l @1 vk, Feea & B-gusfoa e & a7 siadRea
areiieerss Toopl 1 HERT ST 82
1. SEHCHISS T
3 REEE D]
3. 39-HANTh T
4. IS T
A
1
A2
2
o
3
Ay
4
Objective Question
23 703523 2.0 0.5
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Skeletal muscle cells need to convert pyruvate to lactate while sustaining
anaerobic respiration to

facilitate TCA cycle.

maintain the acidic extracellular environment.
recycle NADH.

generate more ATPs from the NADH.

Wb

Feprel U2l FIABBT T HATFH! THA §ATC W@ & [olT UISHAe Hl olgee &
qiafdd #Ra I MEAFAT BT &

1. TCAaﬁaa’rgimamﬁaﬁﬁWI

2. AEIHIADT ATATGIVT &l IFlT §AT0 @A & forT]
3. NADH & 9e1:9suT & fav|
4. NADH & 38 ATPs 3c0eI & & faIT|
ALy
1
A2y
2
i
3
4

Objective Question

24 703524 2.0 0.5
Which one of the following properties is NOT responsible for the self-sealing
nature of ruptured biological membranes?

| The amphipathic character of the lipids

2. A hydrophobic interaction between lipid molecules

3 Hydrogen bonding between the head groups of the lipids and water
4. Covalent interactions among lipid molecules

o ATt F ¥ e W, AT IR BTt & w@ag v & @

STReT A 87

1. st & IHIEAST F&ToT

2. fafts 3ot ¥ @ o sEfReEl A

3. AfE & oY @ogl 3R ofer & e greaie aeuar
4. TR 0Bt & Avy GeEdlsE FAafHaTd

1
A2y

2

3

Ay

4

file:///C:/Users/Admin/Downloads/3_Live_LifeSc_E _B2/3 Live_ LifeSc_ E B2 1-145.html 15/125


https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

Adda2477

3/3/25, 1:39 PM 3_Live_LifeSc_E_B2_1-145.html
Objective Question
25 703525 2.0 0.5
Which one of the following statements about DNA packaging in chromosomes is
INCORRECT?

1. Condensin | creates loops of nucleosomal chromatin for packaging in mitosis.

2.  Histone H1 is required for higher order packaging of mammalian
chromosomes.

3. Histones form hydrogen bonds with the sugar-phosphate backbone of DNA.

4. Histone modification is not required for mitotic chromosome condensation; it
is mainly required for epigenetic control of gene repression in interphase.

IURET H DNAFT SHGT & IR A @7 F¥= 7 q Fi9 & TF Tad ¢7

1. FAYAUT A GG & AU Fe8owet-|, syFelidiaer ST & araf &
AT gl

2. TAAUN AURGET & 3TUR e H UhfoT & v fgEce H1
TGRTHAT gl &l

3. RTAT DNA & A&-HIEhe HURISS] & AU Gl ot Tt g

4. FAYICT AU GelfEeT & AU el Fuiaver 1 3m@edsar Ag g §;
FHHI HEIA: HAUGET # S THA & Iond [@IA01 & AU 3raeasw
gl &l

Al
A2
:A3
A4

Objective Question

26 703526 2.0 0.5
Ten bacterial cells are inoculated into 10 ml of Luria broth and grown for 10 hours

with shaking at 37°C. What will be the approximate number of bacteria in the flask

at the end of 10-hour incubation? (Note: the doubling time of this bacterium in

Luria broth is approximately 20 min).

106
108
109
1010

il el

&w Siraroy IRRTE 10 el g sty & @0fa i i 3R 37°C W S
& @y 10 et & fov aftfa & arif| 10 et & E09er & 3id & Shamwpat #
HeATfAT A aar gei? (Ale: JRAT 1 A 39 S @ gfauur sty

wasTer 20 fAee 8)l
1. 108

2. 108

3. 100

4. 101

Al

1
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Objective Question

27 703527 2.0 0.5
Which one of the following statements best describes the functions of the SNARE
protein complex in vesicular transport?

1. It catalyzes the hydrolysis of GTP to GDP during vesicle movement.

2. It provides structural support to the microtubule network.

3. It facilitates the fusion of vesicles with target membranes.

4. It transports cargo along actin filaments via motor proteins.
ﬁmmﬁﬁﬁmmw,gﬁﬁmqﬁﬂmﬁsm%maﬂd@a:m
#T FEY TET TEAT HAT &7

1. gfesr aReres & eRie I8 GTP T GDP # Sfei3iques &l S il
ol

2. IE GEASTOE SATTdT F FGACHS HERT &l ¢

. Tg YRl @ 96 Frecldl d oA # oA o gl

4. g AT WA ganr UFed Hagenl A @i F qRagd Har g

Al
A2
A3
:A4

Objective Question

28 703528 2.0 0.5
During the most common form of protein glycosylation in the ER, a preformed
precursor oligosaccharide which is transferred as a complete unit to the
asparagine residue in a protein is:

3 N-acetylglucosamines, 10 mannoses and 4 glucoses
2 N-acetylglucosamines, 9 mannoses and 3 glucoses
3 N-acetylglucosamines, 9 mannoses and 3 glucoses
2 N-acetylglucosamines, 8 mannoses and 3 glucoses

ER# W& Torgaifafoimivr & da8 31H YT & NI, & qdfafid qaemar
ifereidaTss St v NS & Tah QU7 $a1S & §9 A TERGN IEAT A
ARG gl 8, ot & &

3 N-vafeeae@ardie, 10 Hw=AlsT 3R 4 Tt
2 N-v@feeremIarH, 9 Hesils HR 3 Toflsl

3 N-tafeeracEhrare, 9 Aeaiel 3R 3 Toflat
2 N-vRfeevohIareid, 8 Hedlel 3R 3 Tofehisl

PWON =

oo Mo
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Al
:Az
A3
:A4

Objective Question

29 703529 2.0 0.5
What is the correct order of enzyme actions during the long-patch base excision
repair in humans?

1. Glycosylase, Lyase, AP endonuclease 1, DNA Polf3, DNA Ligase 3
2. Glycosylase, AP endonuclease 1, DNA Polde, Flap endonuclease 1, DNA

Ligase 1

3. Glycosylase, AP endonuclease 1, DNA PolB, Flap endonuclease 1, DNA
Ligase 1

4. Glycosylase, AP endonuclease 1, DNA Poldg, Flap endonuclease 1, DNA
Ligase 3

Al & Q-wus 4R 3TOeA UK & R1A Trolisd BRanall 1 @dl Ha Far

&?

. TOISHIETSelSl, ATSAST, AP USIefdeital 1, DNA PolB, DNA drsdrs 3
2. TSRS, AP TSI Feilst 1, DNA Polde, Fold TSI=gfFeitst 1, DNA

CIELE I
3. IABHASAS, AP Tslegf&eltst 1, DNA Pol, 7T UsI=g{Fartst 1, DNA
CIELS
4. TAFHIASS, AP USgfFetal 1, DNA Polde, Feld UsSIegfdeilst 1, DNA
SIS 3
M
1
A2,
2
o
3
e
4
Objective Question
30 703530 2.0 0.5
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Match the following:

Column X Column Y
Eukaryotic DNA polymerase Function
A. i. Base excision repair
B 3 i Thymine dimer bypass
C. B i Lagging strand
D. n iv. Leading strand

Which one of the following options represents all correct matches between
Column X and Column Y?

1. Al B (iv) C (i) D (ii)
2. Aliv) B (iii) C (i) D (i)
3. A(v) B (iii) C (ii) D (i)
4. Aliii) B (iv) C (i) D (i)

e &1 fAae SR

TqH X A Y
o DNA areltast T
A o . 8] 3T8e JUR
B € . AT aﬁm;r 399y
C. B i qeERHT TS
D. n iv. HIETH E2iE

9T fahedl & & Hid Uh, TAH X AR TEH Y & AT T Ger Aear or

el 87
1. Adliii) B (iv) C (i) D (ii)
2. A(v) B (iii) C (i) D (ii)
3. A(v) B (iii) C (ii) D (i)
4. Adlii) B (iv) C (i) D (i)
Ay
1
A2y
2
Ay
3
Ay
4
Objective Question
31 703531 2.0 0.5

In the context of gene expression, what is the primary function of the mediator
complex in eukaryotes?

1. To modify histones to promote transcription

2. To facilitate the interaction between transcription factors and RNA
polymerase Il

3. To promote helicase activity to unwind DNA during transcription initiation

4. To degrade mRNA after transcription
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et Hffcafada & deit A, ool 7 ATy dga & TUffE HF a2 g2

1. geEd & add & fav feear & aRades
2. A FRA IR RNATTIAST || & & 3ieafhar i Gore Salrer

oI IR F SR1A, DNA IFsers & T gforhsr Sramefierar 1 sgrar
e

4. HJol@s & gATd mRNA &I fqafed wtar

Al
:Az
A3
{&4

Objective Question

32 703532 2.0 0.5
Which one of the following translation systems is inhibited by cycloheximide?
1. 708 ribosome-associated bacterial translation system
2. B80S ribosome-associated eukaryotic cytosolic translation system
3. 74S ribosome-associated mitochondrial translation system
4. 70S ribosome-associated chloroplast translation system
o Ie[ares T3 A ¥ T T UF ASFARTHARS GaRT HETAT Bl 872
1. 70S ISSTHIA-HFEY SAIY] 3ddmesT dF
2. 808 VEENIH-TFCY Hehegehld iAo Al HeAares a7
3. 748 UZSNIH-TFECY YIROIBI Hefdie dF
4. 70S IZSAIA-HFEY gRdedh Hqared dF
ALy
1
A2,
2
Ay
3
Ay
4
Objective Question
33 (703533 20 [0
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Column X lists Pattern Recognition Receptors (PRRs) and Column Y lists the
ligands that bind to the PRRs.

GET IT ON
Google Play

Column X Column Y
A. TLR5 i. Profilin
B TLR3 ii. Unmethylated CpG DNA
C. TLR12 iii. Flagellin
D. TLR9 iv. dsRNA
E. TLR4 V. ssRNA
F. TLR7 vi. LPS

Which one of the following options represents all correct matches between

Column X and Column Y?

1. A-ii B-v, C-i
2. Adiii, D-ii, F-v
3. GCH D-ii, F-iv
4. B-iv E-vi, F-i

s X gfaed iferarT amgr (PRRs) &I FHlacy Har § dur FTdd Y PRRs &
HEEY § aTel Al H GAeed FHel &

T8 X TATY

A. |TLR5 i TR

B |TLR3 i. faAREFHd CpG DNA
[

C. |TLR12 ii. G

D. |[TLR9 iv. dsRNA

E. |TLR4 V. ssRNA

F. [TLRY vi. LPS

e fadedl & @ &l &1 e, 60 X 3R 69 Y & 97 |90 @@ Aot a@r

gelfar 87

A A-iii, B-v, C-i
2. Adii,  Ddi,  F-v
3. A D+i,  F-iv
4 B-iv E-vi, F-i
1

2

3

4
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Which one of the following statements regarding the cadherin superfamily proteins
is correct?

1. Non-classical cadherins Fat and Flamingo, regulate epithelial growth and
cell polarity, respectively.

2. Inan early mouse embryo, anti-N cadherin antibody prevents compaction.

3. P-cadherins lack transmembrane domain and are anchored to the
membrane by GPI anchors.

4. Loss of the non-classical cadherin desmoglein causes skin blistering due
to increased keratinocyte cell-to-cell adhesion.

Pt woet & & T A o, FSRe g (G Sae & v F @l
¥

1. R ¥R dhe R TR, FE: FIHA JefO HR AR g
& fafaafaa & g

2. HYS & TH GRIFHE UT A, TA-N HzpRe uferel dueer & serd §1

3. P-FeseRew, TRfEer 97T &8 gl ¢ 3R GPI R @t Breel &
AafRa g g

4. IR-IRIRF HeeReA SEAeRA &1 g §¢ §U MRARRIFHT & Hifrer-
H-IfAHT AT & HRUT cddl H il gl o ol

Ay
1
A2y
2
I
3
Ay
4
Objective Question
35 703535 2.0 0.5
Haploinsufficiency in tumor suppressor genes can be caused by all of the following
mechanisms EXCEPT
1. deletion of one allele of a gene.
2. amissense mutation leading to increased expression of one allele.
3. nonsense mutation in one allele leading to truncated protein.
4. epigenetic silencing of one allele.
39S RS S & EfOTasaivadr @ # & fhaal o & ash
frafafaat gan g &7

1. U& Sl & U Tellel &l faeiged|

2. UH HNEH IcuRadd ORI U Telldl T 9¢r g5 JifRcgafEal
3. wmﬁmmﬁﬂaﬁmt‘%ﬁmﬂ;ml

4. T UAA & AT SHA|

Al

A2
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Ad

Objective Question
36 703536 2.0 0.5
Which one of the following is NOT required for isotype switching from IgM to IgE?

VDJ recombination

Double stranded break repair
Cell division

T cell cytokines

et e

AT & & Pl a1 U, IgM T IgE & THAYET JcoAT-acell & folT IMaTF 7T

1. VDJ gaafeia
2. ¢fd ¥Ies g AFAT
3.  wifrer e
4. T IS AT
1
2
3

Objective Question
37 (703537 20 |0
Which one of the following statements is INCORRECT regarding seasonality and

sex in aphids?

1. An egg hatched in the spring gives rise to several generations of
parthenogenetically reproducing females.

2. During autumn, a particular type of female is produced whose eggs can give

rise to only asexual males.

After winter, when eggs hatch, each one gives rise to an asexual female.

4. The juvenile hormone controls the parthenogenetic/sexual switch and also
inhibits the formation of wings.

w
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A Susl & & Fla @1 vh, AE (Ths) A AFHATA IR ST & TR A TIwd
&7
1. 96d A THIET Tk T, HiAYFolde CarT Golald el dlell AGT3il T FS
et ST B
2. 9dsIs & &R, UH AW e &1 AT sadr ¢ oas 33 shae 3ifeelr
R AT FHA gl

3. Sl & 91g, 9 33 TP 81 § A oA, T IS AT ST
4. fFAR grEfa s &fe Raga o Faia sxar € 3k 9@l & aa9
F aiftrT &t Bl

fAl
jéZ
{\3
{\4

Objective Question
38 703538 20 |03
Which one of the following statements is INCORRECT regarding pattern formation

during embryogenesis in Arabidopsis?

1. The zygote is unpolarized with respect to its intracellular composition.

2. The two daughter cells that arise from the first mitotic division of zygote has
distinct developmental fates.

3. The cells derived from the basal quartet of the apical cell give rise to the
apical regions of the root meristem.

4.  The hypophysis derived from the uppermost cell of the suspensor gives rise
to the quiescent center of the root apical meristem.

v Fual A @ 9 @1 v, QEEET 7 qoieHa F N Y g & aR
H Iad g2

1. gIAS 3H® ARSI Hoed & desl & rygfad gar &l
2. @ O FRFC S F oA & JU7 A @A § 3cTe gl &, A

gEase fasrarcAs sfasy giar gl
3. RIEmr FINF & 3MUNT I35F F T FIRFT, Fo Fersaas & R
& e g
4. fAoE® & HEH FT SN @ ol er-Ehifder, Hor R Tasards &
gelid &g A g1
Ay
1

A2
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A3
A4

Objective Question
39 703539 20 05
Which one of the following statements is true about cellular senescence?

Insulin signaling activates FoxO, and FoxO promotes senescence.

Insulin signaling inhibits FoxO, and FoxO protects cells from senescence.
Insulin signaling activates FoxO, and FoxO protects cells from senescence.
Insulin signaling inhibits FoxO, and FoxO promotes senescence.

T FYEr # § 9 @1 v, FRNEHT Sivfar & N A e 272

B0l e

1. g " FoxO & @fhd #am &, 3R FoxO Sfiofar &1 serar g

2. gl Whae FoxO & HeMAT &l &, 3R FoxO, HIRIH3T #r sirofar
¥ Farar B

3. Sgfoi Wohdel FoxO & &fsha & &, 3R FoxO, HIRIAB3T &1 Siofar &
Farar gl

4. 3Gt Thad FoxO # HefAd Far § AR FoxO Sirefar 1 sgrar &

Al
A2
:A3
A4

Objective Question
40 703540 20 Jos
In a developing Drosophila embryo, which one of the following is the correct order

of Hox gene expression from the anterior-to-posterior axis?

Antennapedia, Ultrabithorax, Abdominal A
Abdominal A, Ultrabithorax, Antennapedia
Antennapedia, Abdominal A, Ultrabithorax
Ultrabithorax, Antennapedia, Abdominal A

graIfher & v faemdie qo1 &, 7 7 § 9 @ OF, 7T § 927 367 A
3R Hox o & FfRcaafdd &1 ey T 8§72

P 08 R

1. Affehue, Afdeiaast, 3T A

2. 30T A sfaefaasr, g
3. Afeue, 3ed A, Afagiaasr
4. 3facfaager, Afede, 3eiT A

ALy
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A2
A3
A4

Objective Question

41 703541 20 o
Which one of the following statements represents correct sequence of events during
electron transport chain from P680 to P700 in a light reaction of photosynthesis in a
typical plant?

1. Plastocyanin - Plastoquinone A - Plastoquinone B - Cytochrome besf complex
- Pheophytin

2.  Plastocyanin - Cytochrome bgf complex - Plastoquinone A - Plastoquinone B
- Pheophytin

3.  Pheophytin - Plastoquinone A - Plastoquinone B - Cytochrome bsf complex-
Plastocyanin

4.  Pheophytin - Cytochrome bsf complex - Plastoquinone A - Plastoquinone B -
Plastocyanin

T FUAT A § ST TT TF, Folaeld IRGgT AW & g T T&UT 9Ty &
hT2T TIWUT hT UF Yaprel HTATHAT H P680 & P700 d% HeaA3dl & Tgl &

& gelar 87
1. TR - CRCliFdale A - CoReliFasii B - TISTIHIA bef el -
parEEie
2. CAREINEfAE - AISEHhIA bef el - TR Faailal A - CaREelidaale B -
rarwrsies
3. ThaImrsiee - comeelidasite A - Celeciidasile B - AISCIShIA bsf Tpel -
caTEe g A
4. TR - FIFRIH bef THA - TR FIAIA A - CAFCIFIAT B -
CATECIATT Tl
Al
1
Ay
2
A3 3
3

A4

Objective Question

42 703542 20 o3
Acetohydroxy acid synthase (AHAS), an enzyme involved in branched-chain amino
acid biosynthesis, is inhibited by all the following classes of herbicides, EXCEPT

1 Imidazolinones

2 L-phosphinothricin
3. Sulfonylureas

4.  Triazolopyrimidines
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MBS FHAT 3T JTEWINUT F AMHA UF TeollsH VAERSSFdT 3
AT (AHAS), 5 & & frass 3faRea @sh a2l & oif garr def@a gar

87
1. sHAsEREEE
2. L-BiEthaAATAT
3.  HowlHergus
4. OGRS

1

2

3

4

Objective Question
43 703543

20 (03
Which of the following phytohormone signaling pathways are evolutionarily related
to bacterial two-component regulatory systems?

1. Cytokinin and ethylene
2. Brassinosteroid and auxin
3. Auxin and cytokinin
4. Brassinosteroid and strigolactone
fAF T & @ &ia @1 el F6has 9U IEfREET §9 & Shav] § gf3-ues
AamHAs T4 | "afea 82
1.  gEawERT 3R ofde
2. wifAARERIEs AR ifead
3. 3ifFga iR FscesEd
4. FIfEAERSs 3 Enidwa
ALy
1
A2y
2
I
3
Ay
4
Objective Question
44 703544 20 05
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Which one of the following plant pathogens has the most prolonged symptomless
infection phase?

1. Phytophthora infestans
2. Magnaporthe oryzae

3. Botrytis cinerea

4.  Mycosphaerella fijiensis

et 9rey WMl H @ fhd T H @ o6l JeURTET THAUT HTEAT glar

87

1. PISEIBYRT SHHca
2. Hzamgred yREsH
3. FlevrElew R
4. HBFHREBRET BAvlad
Al

1
A2

2
A3

3
Ay

4

Objective Question
45 703545 2.0 0.5
Which one of the following is NOT a vitamin K-dependent blood clotting factor?

Factor I

Factor V
Factor IX
Factor X

bl

et & ¥ *l @1 s [affa K-k s wE&es ars a8 £

1. R I
2. @&V
3. @& IX
4. PRE X
o
1
2
s
3
fa
4
Objective Question
46 703546 2.0 0.2
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Which one of the following is NOT called secondary bile acid?
Deoxycholic acid

Lithocholic acid

Chenodeoxycholic acid
Ursodeoxycholic acid

T 7 & $la vs gfadas 9 3Fa a8l Fgarar 82

o

1. affedreiios
2. foueifes 3w
3. defSHEEwIoH HFe
4. 3HifE3ERS S e
My
1
oF
2
o
3
ra
4
Objective Question
47 703547 2.0 0.5
Which one of the following does NOT increase airways resistance in lungs?
1. Norepinephrine
2. Thromboxane Az
3. Histamine
4. Leukotriene Ba
5 & @ Fi @7 v Bwsf F wawAAnET S giaRusar A€ serdr 87
1. ARCRARRT
2. YT A
3. TREcH
4. W‘\?ﬁﬂﬂ' Ba4
Ay
1
A2,
2
I
3
Ay
4
Objective Question
48 703548 2.0 0.5
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Which one of the following is NOT a true effect of aldosterone on the principal cells
of distal tubule and the collecting duct to increase the reabsorption of Na*?

1 Stimulation of CAP1 levels

2.  Decrease in the serum and glucocorticoid-regulated kinase 1 (Sgk1) levels
3. Increase in the expression of ENaC in the apical membrane
4

Increase in the amount of Na+, K*-ATPase in the basolateral membrane

F # & Fia &1 tF, Na* & J:HI0T q & o0 ey Ao H 57@
PN IR Faegs TR W TeSIE T FT aEdfas THT 8 &2

1.  CAP1 ¥ & 3eaid«

2. @A IR ToHieHss-fAdRa Hsas 1 (Sgk1) T & FAr
3. ofifey fEreel # ENaC 1 ifieafda & gefar
4. 3raaredl Bieer # Na', K"-ATPaseEﬁ’raqﬁT#a;ﬁr

1

2

3

Objective Question
49 1703549 20 o
In a population, the frequency of allele ‘a’ is 0.2 and that of allele ‘b’ is 0.1. Consider
that there are two alleles for each of the genes. What would be the expected
percentage of population with genotype AaBb, considering that the population is
under Hardy-Weinberg equilibrium?

1.44 %
2.88 %
50 %

57.6 %

PN

U HEE H Tellel ‘a’ &1 IR 0.2 3R weler b’ 3EfT 0.1 § | A AfST
U3 ST & fow @ veher & | afe I8 HeK gef-diaed et # §oar
SIAYRT AaBb aTell TETGT T FATIAA AT AT gIam?

1. 144 %
2. 288%
3. 50%

4. 576 %

Al
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A3
A4

Objective Question
50 703550 2.0 0.5
Which one of the following correctly describes how a mutagen induces a specific

type of base change in DNA?

1. UV radiation typically creates thymine dimers causing G-C to A-T transition.
Nitrous acid deaminates adenine, leading to an A-T to G-C transition.

Ethidium bromide intercalates into DNA, causing specific base substitutions
like A-T to C-G transversions.

4. EMS is a base analogue, causing G-C to A-T transitions.

T & @ 39 ar v, 3cafladt DNA # v faftee yaR &1 a1 oRads &
& uRa FTar &, & FEr carEar adr g2

1. LV RRER yg@d: G-C & AT gdAlcIRada & arar urgelia gfaest

3797 AT g

2. SCH 3FA USAlT &1 AUfAA Har g, 58S A-TH G-C RTINS
giem &

3. ENTETH siAEE DNAH af-aRia gex [aftse ar gfawamas A-TH C-G
ST favHcaRads Far gl

4. EMS s &R AuHAf § A G-C A A-T FAaRadsl Far B

Ay
1
A2
2
X
3
My
4
Objective Question
51 703551 2.0 0.5
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Which one of the following statements best illustrates a dominant negative
mutation?

1. A mutation in a growth factor receptor gene leads to an overactive receptor
that signals constantly, even in the absence of a signal.

2. A mutation in an enzyme-coding gene decreases its activity, but enough
enzyme activity remains in heterozygotes to maintain normal metabolic
function.

3. A mutation in a transcription factor gene reduces its ability to bind DNA, but
there is no effect on gene expression unless both alleles are mutated.

4. A mutation in a structural protein gene produces an altered protein that can
interact with its wild type counterpart and disrupt its function.

T FYAT 7 F PTG U, FHIET TRRIcHS 3cqRade T Hafas sarear Hidr
¥

1. U gEfOeRe Amer SN A 3cafads el el sarar § S vs ddhas
& g & off TENAR W T TgaT B

2. TS TealBH-FHIRT S #F 3cIRTd 3T AThIdT T &dT g, dlfehed ATHT
U H FAU WA & AU fAvAgeAst d gaicd teemgA haneier
@l 2

3. UF IAAGA FREF Sl A IcaRaca sEH DNAF duar $T a7 1 FH
FT a1 ¢ Afra 59 aF =T verdl & 3caRads a1 & e dffeafFa o
IS GHIT T 93T B

4. TH GTOATHS AT S & 3caRdads U gRafdd W 3cdeel T §
S 5UF 9T UHR THBEN & AT HeAAHAT FXdh SHP HIAT I SIS
F THhT gl

Al
A2
{x3
A4

Objective Question
52 703552 2.0 0.5
Which one of the following statements is correct?

1. A population of a diploid species can possess only two allelic forms of a
gene.

2. In codominance, the phenotype of the heterozygote lies in the range between
the phenotypes of individuals that are homozygous for either allele involved.

3. Penetrance is the frequency with which a genotype manifests itself in
individuals in a given population.

4.  Expressivity is the type or degree of phenotypic manifestation of a penetrant
allele or genotype in a particular individual and is not influenced by the
environment.
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T FUAT A @ HIT |1 U Fel g2

1. UF SffOra genfa it e & vk Sfe & Fa oF velrell THR gl Fhl
gl

2. WEUHIAAT H AVAYTAS & FEIUIEY, eldl Tollell & fou GAgaAsi safeeal
& JLIUTYEAT & WE H TEd §

3. 3adus g 3gfa ¥ owd Ay ve Sheruw R ey & dufdast #
&I F FEd AT B

4. Afhcgeaar, RN @Fd-dy A& e iaddt velld @ Sheww &
TUIERE HfFcAfFd & IHR AT AT § AR aTdevr ganrt gHTad Jg
grar gl

{\1
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Objective Question
53 703553 20 o
Which one of the following plants has a bisporic type of embryo sac development?

Allium
Oenothera
Plumbago
Polygonum

e ot & @ FEA v SfAdE YR FT HUHIRT AR glar 872

F o=

1. UTgH
2. Rk
3. wIHST
4. GiciemaAA
Al
1
2
3
4
Objective Question
54 703554 2.0 0.5
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Which one of the following features distinguishes Echinoderms from Cnidarians?

The absence of sexual reproduction.

The presence of radial symmetry.

The total number of germ layers present.

The presence of a network of water-filled tubes for movement.

5T HTFAAUT F T Hid U THhEAsH & @i ¥ [Afea Fwar &2

ol

i ﬁﬁamaﬁra@ﬂf@rﬁ-’rl

2. 3w ARl fr sufeufa)
3. 3URUd Sefel FAU H Fel HEAT|
4. mﬂ:ﬁvmﬁﬂfrg‘éﬂﬁmﬁ%wméﬁrmﬁaﬁl
ALy
1
2
A3
3
Ay
4

Objective Question

55 703555 2.0 0.5
Which one of the following statements is INCORRECT about lectotype designation,
following ICBN rules?

1.  Asyntype is preferred over an isotype.
An isotype must be chosen over a syntype.

3. If syntype or isosyntype and isotype are not available, a paratype can be
chosen.

4. Inthe absence of any type material, a lectotype can be chosen among the
uncited specimens of any original material.

AT 4T & @ FiaT v, ICBN @#ET &7 9raed e W I9IG9ET UeATH &
I A T B2

1. TS FAYET & TUT 9T HEUET I JIATASAT &F ST 2
2. TP TEYRT & TUH W AT U6 AYRT & 93«1 [Far J=r anfgel

3.  Ife HEWET AT THTGURT 3 THYRY 3dcistl 1ol ¢ df U JHRUST &
T99 AT ST T gl

4. TR 9FT A AU A T TIAIRT FT FAT AT o T AR F
FASTYA A F AT ST wH
Ay
1
A2,
2

A3 5

3
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Objective Question
56 703556 20 03
Which of the following is true for a monocot root?

Vascular bundles often polyarch; Pith large and well-developed
Vascular bundles always hexarch; Pith large and well-developed
Vascular bundles always diarch; Pith small or absent

Vascular bundles often polyarch; Pith absent

Tharelaar 32 & fov e 7 @ a9 o &2

ot

1. Hagel 957 W qEIeEred; 93 AR Glawfad Fso

2. Wagel 9571 FARN VCIEEres,; 93 3R gawfad Asar
3. Wdgsil 95 FHUT SIS, BIT AT HATRTT FHooll
4. HIEel TS W TEIATMGATED; Fooll Hearedd

Objective Question
57 703557 2.0 0.5
The presence and abundance of a species in a local community is dependent on

multiple processes. Which one of these processes is UNLIKELY to depend on intra-
or inter-specific interactions?

Dispersal

Niche differentiation
Demographic stochasticity
Resource competition

AT TSI A U gonfa @ 3ufRufy Ak ggrar Rfdy gfwast o @i
Bt &1 39 & g ufshar &7 30aR- O IR-TA 3a=athar W @R g

PN

IgFNg g7

1. gt

2. g [@adeor

3. SAETEIRT GHHTSTdT
4. FEYT FEY

ALy

1

A2
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Objective Question
58 703558 2.0

0.5
A desert annual plant with long-duration seed dormancy germinates only after
heavy rainfall. What life history trait does this illustrate?
1 Bet-hedging strategy
2.  Kstrategy
3. Frequency-dependent reproduction
4 Density-dependent reproduction
Ard-ifere s ggTaaT aTe U SRy aif¥s dier e il ast & A
3R BT &1 IE Hled & Sael gel &I T 3eTexoT 872
1. de-gfer A
2.  K3SEr
3. IgR-fAeR geteter
4.  "ca-fAR vt
Al
1
A2,
2
I
3
Aty
4
Objective Question
59 703559 20 [os

In life history theory, the concept of ‘cost of reproduction’ refers to:

1. reduced future reproductive output or survival due to current reproduction.
reduced current reproductive output to conserve energy for future
reproduction.

3. trade-offs between foraging rates and reproduction.
4. trade-offs between mating and territorial defense.

Shaer sfogra Rigua #, Yoieda &1 {ed JTUROT Hefeid Rl ¢

1. TJAA Yolalel & HRYT JaST H Yoidag 3cuigsT ar 3Taiiadr 7 &at|
2. HAfesy & goiae & faU Fof @e1or ¥ i Yoidel Scdrest # el
3. TR & ganer @ & 3R I & 7L AHAET |
4. #AYA IR & P & AT HHTE|

1
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Objective Question
60 703560 20 o
A researcher captured 60 bivalves from a habitat on day 1 and tagged all of them.
On day 2, she caught 40 bivalves out of which 20 were already tagged. She then
estimated the population size of bivalves in the lake using this information. Which
one of the options represents the percentage of the bivalve population that were
marked on day 1?

10
50
60
20

PwnN =

U MUl A vd drpda A 9uH A 60 @rdr uws 3R 37 @l @ Rfred
T gay & 39 40 9 o3 e & 20 9o @ Rfega 41 a9 35+ 390
AT T FANT A GO ST H Wdr fr HQwdr F ke AT Pl |
fawren gger gt Rfeea &1 iy Ay & ey & gfaeradr @1 geiar &2

1. 10
2. 50
3. 60
4. 20
Aly

1
A2,

2
A3 5

3

A4

Objective Question
61 703561 20 |03
Which one of the following options suggests indirect selection in a population?

1. Survival rate

2. Reproductive rate

3. Selection via kin associations

4.  Selection via deleterious mutations

AT RJacal & @ i @1 U, ERT F WIS 999 addrdr g7

IERIAdr &3
goTdd &X

T
2
3. TSl HIA GaART T
4

gifeieR® 3caRadd garT aa
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Objective Question

62 703562 2.0 0.5
Which one of the following phenomena describes the evolution of wings in bats,
birds, and insects?

1. Homoplasy
2. Common ancestry
3. Pleiomorphy
4.  Symplesiomorphy
T el # ¥ i @1 U, THIGS, dfadl AR Fl A 9@l F ey
Fr ATEAT FAT 57
1. FARAEIOT
2. |AG qdsrdr
3. @gwuar
4.  TRFEIATEHAGT
Ay
1
A2
2
"
3

A4

Objective Question
63 703563 2.0 0.5

Which one of the following statements defines a monophyletic group?

1. Agroup of organisms that share a common ancestor and all of its
descendants.

2. Agroup of organisms that includes species from unrelated lineages.
3. Agroup of organisms that lack a common ancestor.
4.  Agroup of organisms that always lack apomorphic characters.

st Fual & @ Fl vwEldcerd @Hg # aReRa wwar 82

—_—

Shat &1 wHg St 3wafass qaer 3R 36d dersl &1 Aeh #d g

2. Shat @ @ O srdecy awmafedt f yenfaar afeafada g
3. oiat @ wg foraed 3sraforss qder &1 3w g gl
4. Sfat & §Hg TS A HIED SeTol &1 gART 37T BT &

Al
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Objective Question

64 703564 2.0 0.5

A grassland has five sympatric species of grasshoppers. Males sing species-specific

songs to attract conspecific females. The song represents which mode(s) of
reproductive isolation?

postmating and prezygotic

postzygotic

premating and postzygotic

premating

TH O & Ao 7 gl &1 urg gaTaas garaar g S AT &
WHET aA F AT 7 gonfa-fAfise e Far §1 T T quaEtor fir
oy At (AT & gt g2

WM~

1. gREwIEr AR geaergE
2. GRIGIAST

3. qEEIE 3R GREgIEShy
4.  GEHITHT

o,

Objective Question

65 703565 20 [0
For expression of a gene of interest (Goi) and a green fluorescent protein (GFP) in
mammalian cells, Goi and GFP must be expressed in a single mRNA, but translated
independently. Which one of the following would be the structure of the expression
construct?

(Pro - promoter; Enh - enhancer; IRES - internal ribosome entry site; pA - poly
adenylation signal sequence)

Pro — Enh — Goi — IRES — GFP — pA
Enh — Pro — Goi — GFP- IRES — pA
Pro — Enh — Goi — GFP - IRES — pA
Enh — Pro — Goi — IRES — GFP-pA

Pwn =
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TAAURT FIRIFHT F IR S (Goi) HR T gRA TN G (GFP) &
JfeaFa & T Goi 3R GFP gHT U+ Uehd mRNA # dffieasa &, ofed
AT T @ Jeaifed gl aifev| e & @ Sl ar v afdeaidd srgae @
HEAT gefr?

(Pro — 3w=11e; Enh — HE0re; IRES — 3R ISl a8 T, pA - 5§
wsfAfereaor @hd 3HHA)

1.  Pro-Enh - Goi - IRES — GFP - pA
2.  Enh-Pro - Goi — GFP-IRES - pA
3. Pro-Enh - Goi—- GFP - IRES - pA
4. Enh - Pro - Goi — IRES — GFP-pA
ALy

1
A2

2
o

3

Objective Question
66 703566 20 o
Which one of the following statements is correct?

1.  The ALS selection marker gene used for development and selection of
transgenic plants confers resistance to the antibiotic, ampicillin.

2. A TO transgenic plant containing two tightly linked copies of a transgene
expression cassette would show segregation of the transgenic phenotype in
a 15:1 ratio in the T1 generation obtained by self-pollination.

3. Non-conditional, negative selection marker genes cannot be expressed
under a constitutive promoter for selection of transgenic plants.

4. Transgenic plants containing multiple copies of the T-DNA are preferred for
field studies as they would always show increased expression levels of the
transgene across multiple generations.

FT ®UAr # § Sl U Hel 87?

1. UReler gt & e AR gae & v g3 e v ALS 99 Regsh
Shet efrafafes sfasifas & o ufekius amwrar vare s §

2. U URSHA HfFCATFT FHe A & gt F JI g5 gfafafedt arer v 10
IR G, TTWRET @R’ ged T1 91 dr & 1511 & 3J9rd # GRGieT
TERTOTIET 3 JYFHIOT Al &

3. 9Reier dietd gua & v, 3esiieits aericas aad Riegs oia &
Tgd 3eATash ¥ 3HiHeTFT A6 U S Fh g1

4. mm(m)a:ﬁvT-DNAaﬁrag-Qﬁrﬁﬁaﬁm?ﬁwaﬁ
wafAEar & S § e 3 gaer &% dfedl g aree # oafta
HfFeaida ¥R g &

ALy
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Objective Question

67 703567 20 (03
Which experiment would be most effective in assessing the synergistic role of
mycorrhizal fungi and plants in phytoremediation?

1. Comparing pollutant uptake in plants with and without fungal inoculation
under identical soil conditions.
2.  Analysing fungal growth rates in polluted versus unpolluted soil.
3. Measuring the root-to-shoot ratio of plants grown in polluted soil with fungal
inoculation.
4.  Assessing photosynthetic rates in inoculated versus uninoculated plants.
9eY-399R0T # AGFIRST Fdh AT dredt H JETEET HFR F HodrhT A
FieT AT FART FEH HAEH FHET grem?
1. THEAE Hel [Eufadt # sas 90T & @Y AR gEh foan, ot &7
Sy HAUGOT I JelotT|
TSI I GV AT H Fdwh e ey H |
Fah HUIUT F YT Hal # ARfAd ol & 3 917 JaAT T
HIGA|
4. EWNT I9H FENT dial # JHREREYOT &7 H el |
ALy
1
A2
2
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3
a
4
Objective Question
68 |703568 20 o3

Which of the following enzymes is used for conversion of blood glucose to
gluconolactone in commercially available blood glucometer?

1 Glucose oxidase

2 Glucose reductase

3. Glucose dehydrogenase
4 Gluconolactonase
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Objective Question

69 703569 20 o
Select the correct set of 8-mer primer pair to PCR amplify a DNA fragment
containing the region shown in upper case letters below:

5' — gagatcaggacttaGATTACAGATTACAGATTACAGATTACAggccaagtc - 3'

5'- AGGACTTA-3'and 5' - GGCCAAGT - 3'
5'- TAAGTCCT -3'and 5' - ACTTGGCC - 3'
5'- AGGACTTA-3'and 5'- ACTTGGCC - 3'
5'- AGGACTTA-3'and 5' - AGATTACA - 3'

PWN =

AT 93 3eRT & wefRia &7 are v PCR waftid DNA @3 & AT 8-mer WsHT
T F Tar AT F TIA T

5' — gagatcaggacttaGATTACAGATTACAGATTACAGATTACAggccaagtc - 3'

1. 5'-AGGACTTA- 3'3iR 5' - GGCCAAGT - 3'
2. 5 -TAAGTCCT-3'3R 5 -ACTTGGCC - 3'
3. 5'-AGGACTTA-3'3R 5'-ACTTGGCC - 3'
4. 5'-AGGACTTA-3' 3R 5 - AGATTACA- 3'
Al
1
2
A3
3
4
Objective Question
70 703570 2.0 0.5
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Sheep RBCs (SRBCs) were added in wells 1-10 of a micro-titre plate as shown in
the figure below. Next, serum from a mouse that had been immunized with SRBCs
was diluted 1/50 in a tube and then added in serial two-fold dilutions from wells
1-9.

[l e R T o i TR A (R

Which of the following statements is correct about titre of anti-SRBC antibodies in
the serum sample?

The titre is 1/400.
The titre is 1/6.
The titre is 1/800.
The titre is 1/8.

PN =

A7 RAFER U YeA-3AAT e f 1-10 FAF A5 & RBCs (SRBCs) 31T
I| FURATA, SRBCs A IfRATd 7y & A 1 Tk Al #H 1/50 Tl
foham I 3R Y 1-9 FOT & HifAS -1 dFH0T Fleh A |

vty OF 550 55 U U 49 e

fArT FUal A § Pl A 77 7 9id-SRBC YTeRTEral & AT & I #

e 72
1. AN 1/400 Bl
2. 3AY 16
3. AT 1/800 &l
4. 3AM 1/8 Bl
o

1

2

3

Objective Question

71 703571 4.0 1.
In a typical experiment, 15 mL of an aqueous solution containing an unknown
quantity of acetylcholine had a pH of 7.65. When the solution is incubated with
acetylcholinesterase, the pH of the solution decreased to 6.87. Assuming that there
was no buffer in the reaction mixture, determine the number of moles of
acetylcholine in the 15 mL solution.

1 1.65 x 10° mol to 1.75 x 10 mol
2. 265x10°molto 2.75 x 10 mol
3. 0.65x10%mol to 0.75 x 10°¢ mol
4 3.30 x 102 mol to 3.40 x 102 mol
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U e 9T # URATR el &l 3ATT AET arel 15 mL Selg [@aaa & pH
7.65 g1 9 faedel & vRATTRNATERS & Ty FEATIT fhar ar faaaa &1
pH,6.87a$mg‘r?mT|a?mﬁgcﬁ:mﬁ:mﬁwﬁaﬂémﬂﬁm,
15 mL erae & vhaftasela & At $r g & [Fula s

1. 1.65x109AT ¥ 1.75x 10° AT
2. 265x10°AT §2.75x 109 AT
3. 0.65x10°HAT & 0.75 x 10° AreT
4. 3.30 x10°HT & 3.40 x 10° AT

1

2

3

Objective Question

72 703572 40 1c
Match the following ribose sugar pucker in nucleic acids (labeled A, B, C, D) with

their corresponding conformational states. The black circle denotes the base of the

nucleotide.
H
Cg Cs'
5 z o 5 , o .
H, “OH e H
e " ‘l 3on° o
OH HH H OH oH
A B D
1. A-C2'-exo; B — 04 -exo; C - C3’-endo; D - 04’-endo
2. A-C2-endo; B-04'-endo; C —C3’-endo; D - 04 -exo
3. A-C2-endo; B-04'-exo; C - C3'-exo; D - 0O4’-exo
4. A-C2-exo; B — 04’-endo; C — C3’-exo; D - 0O4'-endo

=gfFer 3FAl (A, B, C, D Rfrga) & e Tgalsr a0 yEd & 3a% TWER
Hedr saeanst & e S| Frer ga gfFedierss & &R S Gt

o 3 H
H. OH Cs \ - w H
3 H
OH on’” OH oH
A
1. A-C2-exo: B - O4’-exo; C - C3’-endo; D - 04’-endo
2. A-C2-endo; B - 04'-endo; C - C3’-endo; D - 04 -exo
3. A-C2-endo; B -04'-exo; C - C3’-exo; D - 04 -exo
4. A-C2-exo; B - O4’-endo; C - C3’-exo; D - 04’-endo
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Objective Question
73 703573 4.0 1.C
Given below are four metabolic intermediates (i-iv) listed against amino acids (A-E):

i i iii iv
coo- coo- 0 S-CoA COO-
x> /7
| | o |
CH, c=o0 I c=0
' o g=0 |
HO - Ic— coo CH, | cH,
| CH,
Cl“z coo- I
CH
coo- | 2
(olo ks

i - serine, glycine, cysteine

iv - alanine, valine, leucine

iii - glutamate, glutamine, proline
il - methionine, threonine, lysine
i - histidine

moow>

Which one of the following options correctly pairs the metabolic intermediates with
their corresponding amino acid end product(s)?

Aand E
BandD
Aand C
CandE

oo
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A TR 3uTgerRy FEEdt (i-iv) 3T 3l (AE) & wEgE ey fHu A

i i i iv
coo- co0- ; -
| Oy ,SCoA €OO
| C |
CH, c=0 ! caid
HO :Z coo— i I
| CH, | CH,
[ CH,
(|:H2 coo- |
H
coo- f 2
co0-
A.  i- 88, Torsd, AEde
B. iv— Ucldile, dolled, GHIT
C. i — Te[eTAC, Te[erHN, Hrelle
D. i — AfYAE, aEE, asda
E. i-RESa

T el & @ i @ ve, Iugey Avgafdat & 3¢ areaRe e
IFA 3T 3cUIG (3c9Tal) & AT WEl ®Y F YAT Far g7

1. AIRE
2. B3RD
3. A3RC
4. C3RE
o
1
A2,
2
A3
3
r
4
Objective Question
74 703574 4.0 1.
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The graph below shows the plot of 1/v vs 1/[S] for an enzymatic reaction, with the
solid and dashed lines representing the reactions without and with an inhibitor,
respectively. The concentration of the inhibitor is 1 uM.

4 3 -2 - 0 1 2 3 4 5 6
1/[S], M-

Which one of the following will be the K; of the inhibitor?

0.33
1.0
0.50
20

PWN =

o W@, v UearsAr AR & AT /v 93 1/[S) § 3R Y e dr §,
msﬂT@‘%ﬁT@T@mr:wmﬁ'WBﬁTmﬁﬂﬁw
HI GEd AT &1 FAS H Figar 1 M gl

4 3 2 4 0 1 2 3 4 5 6
1/[S], uM-1

7T # ¥ &I U, HGAD HI K gief?

0.33
1:0
0.50
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4
4.0 1.C
The circular dichroism spectra for near-UV and far-UV regions of a polypeptide chain
are given below.
124
204 104
84
— L = 4
SN
2 2 & ol—adf
=] T 2] \
= 0 T— = 4 /
— %
g £ - % EEH
-104 * it 104}
g " e o 24
= paset 2 a4
2 - 20 Lo g™ 2 6
— T a1 -184
w - =204
=30 T T T T T T T T T T T 22+ T T T T T T T
195 200 205 210 215 220 225 230 235 240 245 250 255 250 260 270 280 290 300 30 320 330
Wavelength (nm) Wavelength (nm)
Which one of the following options represents a correct inference about the
polypeptide fold based on the above data?
1. It contains only B sheets.
2. It has to be an alternate a/f fold.
3. It has to be a mixed a+p fold.
4. It belongs to either alternate o/B or mixed a+( fold.
T Ulelleergs A@el & fase-UV AR gr-UV geira gfaauiar quisa &1 & fear
IR E
124
204 10
8
~ 6
—_— . m
® 104 g ;”
o |* . |
= T L1 IV
= 0 T— é 4
— e -6
E o *§ 51 H
-104 * -104;
s . § i
= e+ . g 14
-2 e = 164
= T
=30 T —— 22 : . r - - - -
195 200 205 210 215 220 225 230 235 240 245 250 255 250 260 270 280 290 300 310 320 330
Wavelength (nm) Wavelength (nm)
=T AFedl & q FiF I TP, 3WIFT HHUT & YR W Gieluerss godd &

IR FH g Ty uefia e &2

1. 3OH %ad T B AT gl

2. 3 UH U o/f Tod glar aifge]

3. SH U& RAAET a+p aodd g1 ATy

4. Ig UTHARd o/f A1 AAT a+B ada & AT g
Al1

1
A22
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Objective Question
76 703576 4.0 1.C

AG? of a reaction shows the following temperature dependence.

T

What is the expected dependence of Keq of the reaction on the temperature, where
C is a temperature-independent constant?

1. Ke=C

2. Keg=Cxell
3. Ke=CxeT

4. Keg=-RTIn(C)

TF HATHAT A AG FA a9 R weitia & 2

(=]
o L. B S
>l
T
50 HIATHAT & Keq I AT W IET Far a1 & Sef C U dg-Faad
R &7
i 7 Keq=C,
2. Keq=C)(e”T
3. Keg=CxeT
4. Keq=—RTIn(C)
ALy
1

A2,

2
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Objective Question
77 703577 4.0 1.
A putative mitochondrial signal peptide was attached to the N-terminus of the DHFR
protein and expressed in mammalian cells. Mitochondria were isolated, and a
fraction was osmotically shocked briefly. Both osmotically shocked and untreated
pools of mitochondria were treated with protease. It was observed that the DHFR
was intact in both cases.

Which of the following statements best describes the function of the signal peptide?

1. Ittargets DHFR to the mitochondrial outer membrane, facing the
cytosol.

2. lttargets DHFR to the mitochondrial inner membrane, facing the
intermembrane space.

3. lttargets DHFR to the mitochondrial outer membrane, facing the
intermembrane space.

4. lttargets DHFR to the mitochondrial matrix.

T Hfodd FEROIHT Hhde Iwrss A DHFR W & N-ffY & Hegy &
TATURY HIRIGIHT 7 T THar 74| FEHOIRBT H gush fwar =, R
3FF UF N F FT FAY OF WRRON FOT AT IR FASOH F AT
el gErfad 3R ISR gl # WA & @y 3v=miiRd fRar o
Ig 2w@r a7 % DHFR alAt Al # 3@z

AT FYUAT A  Fied, Hohdd UCIZS & S F HOH TS A I0Id HAT 87

1. WDHFR@',W#WWW%WW@W
aferd &I gl

2.  Ig DHFR &1, JcRIgreel IR HiT IR HHHW FIhoren $T HdRs
Breelr I 3R dfaId X gl

3.  ¥g DHFR A, ARBeell IJeRTeT I 3R AHFE FIhiornr HiT aedl e
1 3R aferaT F=ar g

4. g DHFR &I FESURT 3T $7 3R aféra &ar

o
1
A2,
2
-,
3
My
4
Objective Question
78 703578 4.0 1.C
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The lipid composition of the two monolayers of the plasma membrane is quite
different. This lipid asymmetry is functionally relevant, especially in converting
extracellular signals into intracellular ones. Given below are a few membrane lipids:

A. Phosphatidylserine

B. Phosphatidylinositol 4-phosphate
C. Phosphatidylcholine

D. Sphingomyelin

Choose the option that correctly defines all the lipids involved in signaling and are
restricted to the cytosolic face of the plasma membrane.

1. Aonly

2. AandB

3. CandD

4. Conly

ATeHT fSieall #T & Udho-9Rdl &1 fofs d@ued srfr e grar g1 ag s
yaATAT, AAYT: aEgHIRNET Gahdl I FT:-HART Ghdl H deeled & [T,
foraters ¥7 & grifrs gl ¥1 A Bedh & Fo Rdftsw e o g

HIEHEE R
BIERESRTsAIfAerd 4-BiEhe
BIEBTETSEH fole
Er-anaArs o

3 Asew F1 90 S Fohdd A AiFAfad Tl e S carcAzed &
FRNFEA T d& A & & Te &1 § aRenia & g

oo >

1. hdad A
2. A3RB
3. C3RD
4. &Had C
Al

1

2
Ay

3
Ay

Objective Question
79 703579 40 [1C
Cholera toxin activates the chloride channel in the epithelial cells of intestine leading
to loss of CI, and consequent loss of water leading to dehydration. Successful oral
rehydration therapy involves supplementing water with glucose and salt and not just
salt. This is

1. to replenish the energy lost by dehydration and replace chloride.

2. tocreate an osmotic gradient with Na* and glucose to allow water to move
from intestinal lumen to blood via epithelial cells.

3. because the epithelial antiporter pumps water inside the epithelium in the
presence of salt and glucose and eventually into blood.

4. because sodium chloride will release CI~ for replacing lost chloride along with
water in the intestinal lumen.
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ga AW 3Tq T 3uwaa RREBET F FEREE Jord & THT Far & Twd
Cr-#r gifer gicr &, 9Romae: Ja g & fsieiewer gar 81 awa Ju
gﬂmﬁlﬁwwﬁmqﬁﬁa$gﬁﬂﬁmﬁ§?ﬂﬁﬁ3ﬂ?mgﬁaﬂ
aiFAfad 81 I8 g1 &

1. fASTeNaRoT garT Foit g I fure 3R Faree & gfaeufad &= &
forT|

% Wﬁmﬁﬁm?mﬁﬁaﬂmﬁ]ﬂ#ﬁﬂ#m
St & AT 3FAT i@ 8 Na* 3R Tofisl & A1 Teh IR0 JaqoTar
3TeoT F & AT

3. wﬁ?mm,mﬁmﬁaﬁﬁmﬁm#m?
dd: &d H Uhadr gl

4. Fifs @ifzaw FoRss & @FdFa C, 3id & awie § sio & ary-
maigamsgwqﬁwmﬂml

:A1
A2
:A3
fM

Objective Question

80 703580 40 |1c
After synchronizing mammalian cells in culture with a double thymidine block (cell
cycle duration of 24h), cells are released into fresh medium. After 6h, cells are split

into 4 sets and each is treated with a) nothing, b) proteasome inhibitor, ¢) myosin |l
inhibitor, d) nocodazole.

From the options given below, choose the one that has the most likely outcome of
the experiment.

1L : synchronously dividing cells; b: binucleate cells; c: metaphase arrested;

: prometaphase arrested

: synchronously dividing cells; b: prometaphase arrested; c: binucleate cells;
: metaphase arrested

: binucleate cells; b: prometaphase arrested; c: synchronously dividing cells;
: anaphase arrested

: synchronously dividing cells; b: metaphase arrested; c: binucleate cells;

: pro-metaphase arrested

2,

w
coopoo®
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TATURT FIRIFISN FT SfA-UHAST T (FIRNFT Teh F AT 24 6 §) JFd
dada & gHSIAs F & G, HREBT F A0 Aegsy A g g |
6 ©C & aIG I A 4 Fel #H Afd fhar 1ar 3R gcds & 36 IR
39AIRd fFaT 4T a) BRI & 18T, b) Weardd dcas, c) AAT || deHh,
d) FArRIETE |

A U av faswmedl 3 @ 3W TH H A ST FH GANT FHT AT sy
gl

1. a: gASIoRd: [Aenfad g @ SRS, b: gfadegdr HIAFT,
c: FEATTEAT AT, d: qEwearaedr Afd

2. a:FHSCH: AT g Wr R, b: gaaearawyr AR, c: giadeadr
FIFAHT; d: FEITEEAT AT

3. agfadesdr SIS, b: qdataTaEdr A, c: grafasd: Feanfoa g @
FIfRAFT: d: geaaeEdr Afaa

4. a: GAFIOHG: AT g7 W FIRT, b: ALAEEAT UM, ¢ giasega
FHIFAFTT; d: JEFEATTEAT VX

Al
{xz
A3
A4

Objective Question

81 703581 40 |ic
A region of a mouse chromosome was subjected to micrococcal nuclease
hypersensitivity analysis over stages of development. In early stages, the region had
regularly spaced nucleosomes. In later stages, the nucleosomes were irregularly
spaced with several nucleosome free regions detected.

Based on the above observations, which one of the following is the best possible

inference?

1.  The chromatin region is a facultative heterochromatin.

2. The region is highly expressed in early stages.

3. Nucleosomes are not made efficiently in the late developmental stages.

4.  The nucleosomal arrangements cannot be used to infer potential expression

states.
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AE OF & TEH 8T H, AR HEEuERi H O ASHSd  cgfdls
sifasacaeiear &1 fazevor Far arar| IRFoHs dawarst #, 87 & @afaa v
¥ ewfed ~gfFedd A g Hr ygesit d A @ saufad
TFAEH & Y FS [FrAaA HFd 8T N Ggar S

3RIFT J&I0T & HUR R, &5 F  Hlel U THIT: T9H Tl 5y g2

1. HART &7 vH dFfeus geldiA &l
2.  I§ &7 URTFHE faean3il & afts dffcasa g ¢
3. g &1 e rEemit # gRedEs yHEre & ¥ a8 99 §
4. YFAHH T FHICUAT FT IUAET, FAY AFATFT G2MHT F IHTATAT
F & v A8 T a1
ALy
1
A2,
2
Ay
3

Ad

Objective Question
82 703582 4.0 1.C
Given below are a few statements about vesicular transport.

A. Clathrin-mediated endocytosis requires the recruitment of adaptors to the
cytosolic face of the plasma membrane.

B. The low-pH environment of early endosomes leads to the dissociation of
cargo from its receptor, allowing for the recycling of receptors to the plasma
membrane.

C. The late endosomes, which mature into the lysosomes, are directly involved
in the recycling of synaptic vesicle proteins in neurons.

D. The multivesicular body pathway involves the formation of intraluminal
vesicles, which sort cargo for degradation in the lysosomes.

Which one of the following options has all correct statements about endocytosis?

A and B only
B and D only
B,CandD
A, BandD

o g
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A F5 FUS A dagT & wedt 7 Rw aw §)

A FARA-HIRTd IAHIRIGA & o, corear Bredr # FIRwga sifEEga
g W IHegelh & AYFT T 3maeTehdr g &

B. URIFH IHe:FT & FYeT-pH aTTaTor & FH9if FT ST WEN § JAFHT
giar B, foredt carear Greelt @t anfeat & ger-aspor @y At Prerd 21

C. g & 3d:-%a, ot & caedt & aRusa g €, dfyent § faftes
qieer AT & GoTawoT A T F9 ¥ @iFEATET g o

D. Www#ﬁ-mﬁiﬁwgﬁﬂsﬁmﬁmﬁm&m
TIAFE F FEf B Fuea F v o g

T [Aedl # ¥ TFT T H, HT-HIRGdT & g H T TaT FU7 87

1. Hhad AR B
2. &HAdad B3R D
3. B,C3RD
4. A B3R D
¥
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2
o
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To study different DNA double-strand break (DSB) repair pathways, a construct is
developed that contains a neomycin selectable marker gene flanked by two inactive
GFP genes: the first one is inactivated by the insertion of an I-Scel recognition
sequence, and the other one has a 99 bp deletion at the 5 end of the gene. The
induction of the |-Scel endonuclease will create a DSB in the first GFP sequence.

iy a8 a Sy

& ;2 it £ &
o) o I-Scel siteo ) ©
oy Gl / R — [
Disrupted GFP Neomycin Truncated GFP

resistance gene

The following expected outcomes have been proposed:

A. Ifthe DSB is repaired by the gene conversion (GC) pathway, cells will be
GFP-positive and neomycin-resistant.

B. If the DSB is repaired by the GC pathway, cells will be GFP-positive but
neomycin-sensitive.

C. If the DSB is repaired by the single-strand annealing (SSA) pathway, cells will
be GFP-positive and neomycin resistant.

D. If the DSB is repaired by the non-homologous end joining (NHEJ) pathway,
cells will be GFP-negative and neomycin resistant.

Which one of the following options represents the combination of all correct

statements?

1. A,CandD
2. B,CandD
3. AandConly
4. AandD only
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fafd=T DNA &fa-¥gis % (DSB) AFHAT Udl & Heqqd & foIU, U Sedgae
efaa o man Tad FaAefRa oy Regs e, o Aftsa GFP St
& O Y@l & dEel |-Scel HHMT ogsher & HadeT & AfSHT g3m & aur gEy
A ST & 5 BR 9 99 bp FT et §1 I-Scel TSIegfaeval WOT ¥ YUH GFP
3THA # UF DSB Icuest g

& -y 2 =
Q. - ™
o S I-5cel sitee 8 g
Disrupted GFP Neomycin Truncated GFP

resistance gene

=T g fAswet & wearaa fomar ar=m:

A. If¢ DSB 1 AWAT S 9Rade (GC) ¥ gaRT & 318 ar FIRAGT GFP-
teTcAS 3R s gfaudr gikfh

B. afe DSB & AWAAT GC 9Y @RI H 718 o FHIRHT GFP-tAlcas fohoe]
frarasfEe @adr gl

C. afg DSB & FFAT Uhal T3 Heiielel (SSA) T2 TART F¥ 75 ar HIAHT
GFP-U=TcA® 3R Aaasi@s afcriet el

D. If¢ DSB & AWAd fawsndy 3d Fdiaie (NHEJ) 92 ganrr $r a7$ ar
HIRAHT GFP-ThRIcAS 3R Aaamsfaa gfared gl

T Tereal & O Fi9 e gt T8y FUaT F TS H g &7

1. A, C3RD
2. B,Cc3iRD
3. @had AR C
4. Haa AR D
o
1
2
o
3
o
4
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In order to determine the origin of replication of a circular DNA, isolated DNA from
the actively replicating cells were digested with different restriction enzymes (as
indicated), followed by electrophoresis in a two-dimensional gel. Southern
hybridization was performed with a DNA probe as indicated.

2 |Double Y Bubbleto Y
e
7]
. [
5 kb 5 Kb
Bam HI Hind 11l
Bubbleto Y Bubble arc
Bam HI
4 :
S kb 5 kb
Kpn | Eco RI
Size

Based on the results of the Southern blots, indicate which of the following options
best describes the location of the origin of replication?

Near the EcoRl site
Near the BamHl site
Near the Hindlll site
Near the Kpnl site

el o
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I DNA & JTAFTade 3¢9/ & IR H IaT &9 & e, g &9 @ Fenfea
R A gUTFHcl DNA I e Wegraa domsat @ aifa BRar = (S
f& 3fra 8), doaad gfa-faey sior &7 degdeor dde fhar Il 3 DNA

9" ¥ Tea grefassaya Far |
© |DoubleY Bubble to Y
2
0
; [
5 kb s kb
Bam HI Hind [l
Bubbleto Y Bubble arc
Bam HI
4 :
S kb 5 kb
Kpn | Eco RI
Size

e sl & URUMAT & FUR W, 3fod Rk & v Jeedl #& & Fla
SR 3EITH & T # A9 W & § afvTa aar 27

1.  EcoRI ¥ & fa&e
2. BamHI¥d & e
3.  Hindlll ¥ & faAec
4.  Kpnl ¥a & A%
Al
1
ok
2
A3
3
4
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In a study, researchers replaced the natural promoter of a gene with a synthetic
promoter that contains a point mutation in the TATA box that prevents binding of the
TATA-binding protein (TBP). The following outcomes would most likely result from
this madification.

A.  An mRNA will be generated with an alternate reading frame.

B. The mRNA will be transcribed by RNA polymerase | instead of RNA
polymerase Il

C. Transcription may occur with a reduced efficiency.

D. Transcription may occur but will always result in the formation of a non-
functional mRNA.

Which one of the following options represents the combination of all INCORRECT

statements?

1. Aand C only
2. A, BandD
3. A CandD
4 B and D only

TF G H, M & oF A &F WHAFs IeeTaF F TATA-TTFH T 7
U foeg 3cqRacs ST TATA-8=Y S (TBP) & st &1 Ushel alel HAA
3elTO% ¥ oo fean e sy, gq aRade @ d@wrfaa aRoms #)

A, Tashedr §TSeT thef aTell T mMRNA F=91]

B. mRNA, RNATTIERST || & Sgel &, RNA ITelleRST | & SarT 3af@d grm|
C. G U g9 &TAT F H g Fhe gl

D. 3o g1 Tohell & fohrq Wad 3ifshaeiier mRNA & fa#Tor ghem|

T Adeal & @ o9 v, Gl aT0a FUAT & AT P S2Tar 82

1. @ad AR C
2. AB3RD
3. AcC3RD
4. Had B3R D
Al
1
2
2
A3 3
3
Aty
4
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Match the following bacterial gene expression mechanisms:

Column X Column Y
A. Translated protein acts as a repressor | i. Stringent response
(translational feedback)
B. Production of ppGpp in response to i Ribosomal protein
amino acid starvation, which in turn operon regulation

regulates transcription by binding to 8
subunit of RNA polymerase

C. Regulation of bacterial mMRNA iii. sRNA (small RNA) and
translation in cis chaperone require
pairing with mRNA
D. Regulation of bacterial mMRNA iv. Riboswitches that bind
translation in trans a ligand

Which one of the following options represents all correct matches between
Column X and Column Y?

1. A(v) B (i) C (ii) D {(iii)
2. A(i) B (iv) C (i) D {(iii)
3. A(iv) B (i) C (i) D {(iii)
4. Alii) B (i) C (iv) D (iii)

Srar Sfet Jifdrcafed i foes fharfaftrar r Fere sRa:

T X T Y
A | e S UE gEEeNl @ o | | FeR wfafear
AT & (eTarercas Ffaqse)
B. WA et B A dr wRFE g |0 TEETAHT 9réleT
ppGpp & 3cUie, St RNA Gieii#AtsT R BETEaT
&r B 3UTHS A FUS AT DI
faataa #ar &
C. | cis 3 Sframe] mRNA 3efarest &1 lii. | SRNA (71g RNA) 3R
ICIGREGH U FH, mRNA &
IAA HI JHTATRAT
gl &
D. trans # SiaT9] MRNA 3fefareat s Iv. TSdIead S U
ICIGR LG orasl A &Y grar
g
T Adeedl 7 O &9 T, TAAX AR &a9 Y & &g it @@ Far
AT X 87
1. Aliv) B (i) C (ii) D (iii)
2. A() B (iv) C (i) D (iii)
3. A(v) B (ii) C (i) D (iii)
4. Al B (i) C (iv) D (iii)
Al
1
A2,
2

A

3
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Objective Question
87 703587 40 [c
Adding mRNA that encodes a eukaryotic secretory protein to a cell-free translation
system initiates protein translation. Signal recognition particle in low concentration
and endoplasmic reticulum (ER) treated with 1% Triton X-100 were sequentially
added to the cell free translation system.

Which of the following outcomes is the most likely?

1. Protein synthesis will begin but terminate prematurely, leading to shorter
products.

2.  The protein will be fully synthesized and incorporated into ER.

3. The protein will be fully synthesized, and its signal sequence will be removed
without being incorporated into the ER

4.  The protein will be fully synthesized but not incorporated into ER.

Teh IR JFd Iedieel dF H, Pheahld FIfAd W& & HIET HA drd
MRNA &I e o WET Jefdres e giar 81 FF Figal H Hehd Tgalel H0T
3R 1% TS X-100 § 3YAIRA 3 Jgedl SAferd (ER) FT FATAR HIFRIH
HFd IeqdiesT oF # fAerar |

et A @ =9 @1 wew gwfag Asey 82

1. W HRONUT F gl fheq EHY A g4 FATCA g1 Seel, Sad fr e
3cqTE Seidl|

2. W& qoT ¥4 § HE@RT gl 3R ER A ganfase g smee
mwm#maﬁaﬁ?ﬁ,aﬁtmmw,mﬁm@
e g1 g Sreem|

4. & qUT &9 § HANA gl fheg ER A FAIASE AL g

Ay
1
2}
2
Ay
3
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4
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Below is a table with the list of post-translational modifications on proteins and
amino acid residues that are correspondingly modified.

Post-translational modification Amino acid residue(s)
A. | Phosphorylation Histidine
B. | Ubiquitination Lysine, N-terminal Methionine
C. | O-linked glycosylation Asparagine
D. | Hydroxylation Proline, Cysteine

Which post-translational modifications are correctly matched with the amino acid
residues they typically modify?

1 A, B,and C
2. B,C,andD
3. CandDonly
4.  Aand B only

et anferr, M W HarERR aRadal T IRERe gRafdd AT 3Ed

yafirse & gt &
AR TR 31T 3Fer 3afdee (3afise)
A. | wlEmIRTorEoT R
B. | gdrarygfefaemor ST Hlst, N-FART fATasdeT
C. | O-ggeeeT TASHITATIFION | TEITSHT
D. | grsgiferaforator Srels, et

Hled F IeFarerel IRad, IR sEH ganr fafkse &9 & aRafdd sehar smer

rafrse &1 Ter e g2
1. AB 3R C

2. B,C,3ERD

3. &ad C3IHR D

4. oad AR B

1

A2y

2

3
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The following statements are made about the involvement of the type |1l protein
secretion system (T3SS) during bacterial pathogenesis in plants and animals.

A. ltinvolves a protein complex that spans both the inner and outer bacterial
membranes.

B. T3SS mostly secretes Avr effector proteins directly into plant apoplast.

C. The genes encoding conserved components of the T3SS of plant and animal
pathogenic bacteria are referred to as Hrp (hypersensitive response and
pathogenicity cluster).

D. Once Avr effectors are delivered inside the plant cell, Hrp proteins are not
needed for the activation of the defence response.

Which one of the following options represents the combination of all correct

statements?

1. AandC

2. BandC

3. AandD

4. BandD

areT 3R ST F SE] ITSAT F SR, 3T Il W HEGor T (T3SS) H:

HEAAAr & I H A7 U &g 70|

A 3OH TH W8 TFa FFEATT & S Sha] & et el 3R Al Bree
#H el T 2

B. Tsssgﬁam@mrmﬂﬂ’rmﬁﬁﬁmmﬁmmﬁam
gl

C. Uy R Sq3 & WIeias Sar] & T3SS & WIEd geahl & Hifsd
FIA dTel Sl H Hrp (ATAHAET Ffddes 3R IWTSiashdr Ie5) & §T H
T &a El

D. wmaaAvrm,maﬂﬂara?mqgﬂﬁ%erpm, EIGEEI
giafsear & afhaar & T 3maas A6 gl

st Reedt & & ia @ v, W § FUAT F g F7 gafar 2

1. AR C
2. B3iRC
3. A3IRD
4. B3IRD
M
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2
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Whnt/B-catenin signaling plays essential roles during development. The following
statements are made about the Wnt/B-catenin signaling pathway:

A. In the absence of Wnt ligands, B-catenin is phosphorylated by the
APC/Axin/GSK-3p complex, leading to its degradation.

B. The B-catenin/TCF complex acts as a repressor of gene expression upon
activation of Whnt signaling.

C. The Wnt/B-catenin pathway is initiated by binding of Wnt ligands to receptor
tyrosine kinases (RTKs).

D. PB-catenin is involved in both cell-to-cell adhesion and transcriptional
regulation.

Which one of the following options represents all correct statements?

A, BandC
A, BandD
Aand D only
A and C only

faera & e, Wnt/B-3efae Hdde 3maeds s{fRs Farar &1 Wntp-SHefas
Thdd 99 & dRX H T HUA &g AT

F 00 P

A, Wnt Gerelr i saieufa A, p-RefAw, APCRIFA/GSK-3p afFsy aarr
BREBIREHA gl 8, Sif e fard & 3 o Sl gl

B. WntH&ds ATHAUT 0T, B- el /[TCF TfFaAy, Siia JAfHcgafda & gHa=aaRy
T g HI FT B

C. Wnt/p- $icTaa 94, Wnt Holdall o ARl TEIEIA Hisdolal (RTKs) & HTawsT
T IR g B

D. B-Hefet, HIRAS- HIRNH HESA HR e]oiEe Afaster a=t 7 afFafad
grar gl

AT [awoal & & +I9 a1 v gl TEr AT Fr gATar 872

1. AB3RC
2. AB3RD
3. @aa AR D
4. Shada AR C
o
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T cell precursors that exit the bone marrow undergo positive and negative selection
in the thymus before emerging as mature T cells. These processes are controlled
by cellular interactions of the thymocyte with stromal cells in the thymus. The
following statements are made regarding the selection process:

The selection process involves negative selection of auto-reactive cells in
the cortex followed by their migration to the medulla.

The selection process relies on the transcription factor ‘Aire’.

The selection process can lead to the generation of CD4 cells that

can interact with dendritic cells (DCs) as well as B cells.

The selection process can lead to the generation of regulatory CD4 T cells.

o ow »

Which one of the following options represents the combination of all correct

answers?

1.  Aand B only
2. BandConly
3. B,CandD
4. A,BandD

#EY Asan ¥ IRAAT THRF 3pEmH F aRuFad THRE F T 7 35770
gl ¥ Ugd 3AFT UPAT A UdAlcA® RN HOMcA® II giar g1 I gfera,
UTHE H UTSAIATSE 3 NiSH A3 FHr FIRGRT I=ai=afeHar qanr HaEd
g &1 TIT iR F SN H I FUA Fg AT §:

A, TIT URRAT A, FiEFT H TaA-Tiashareie SIfRHET FT HFoTcAs aad
afFAfad glar 8, dcaeard 39T ASYer & HHIHA g gl

B. TUA UMK, Igellsl &R ‘Aire’ WX A g 21

C. TIA IfhAT & CD4 HIRNHAIT §T Hhcll & oif o B RIfAA3T & Fr-ary
GiFhT HIRHIT (DCs) H Iedlishar el &

D. =g« ufhaT & AA#HF CD4 T AT §o7 Tehell g

AT Baeal & @ i v, T3l Td 39 F GO F AT &2

1. ohadd AR B
2. Haa B3R C
3. B,C3HXD
4. A B3R D
M
1
2
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The following statements are made regarding the role of tumour microenvironment
directly contributing to the metastatic process:

A. Hypoxia in primary tumours can induce the expression of VEGF and matrix
metalloproteinases (MMPs) to promote metastasis.

B. Tumour-associated macrophages (TAMs) always inhibit metastasis through
immune surveillance.

C. Cancer-associated fibroblasts (CAFs) provide structural support and
secrete factors that promote metastasis.

D. The acidic pH of the tumour microenvironment impedes cancer cell
migration.

Which one of the following options represents all correct statements?

A, CandD
B and D only
B,CandD
Aand C only

BN

34 FEATATEOT & WY G 9 GIEATT URHAT F HETTS Bl A fAST &
TN H T FUaT Fg 9w

A A el # reqsnFiar, WA i 9o & v, VEGF 3k aftery
ATAIEASST (MMPs) #1 IRT T a2
B. ®h-HIH JEANETHIU] (TAMs) FTeT AR & SarT gae WU &

Hefad &d &l

C. 3MHe-HaeY dqdR® (CAFs) EloalcH® HERT Weld &Xd § 3R Rreurds
I Feral &7 dTel HRE HI Fiad HLd &

D. 31 YEATATEROT F TR pH, Fh FAST F AT F1 30y =
gl

T Aedl 7 & i va, T G FUAT & @A @ gATT 872

1. A C3R D
2. HIABIRD
3. B,C3RD
4. o&ad AAR C
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In an experiment, while screening for loss-of-function mutants, a student found a
mutation in the gene encoding caspase-9 in the intrinsic pathway of apoptosis. The
following are the possible consequences for this mutant cell:

A. Loss of mitochondrial membrane potential and release of cytochrome C.
B. Reduced formation of the apoptosome and defective initiation of apoptosis.
C. Inability to activate the death receptors.

D. Become resistant to UV irradiation-induced cell death.

Which one of the following options represents all correct statements?

1. A,BandD

2. B,CandD

3. BandDonly

4. AandB only

Teh G H, 59 F--67fd Icaiafdal #r Seair & g, ue fagandf, vaeeifaa

F A’ 9T H, FTEIHA-9 FI FISd R T ST & UFH 3cqRdded HI IaT J9mar|
39 3cuikad! HIRIT & Fafag aRome @ &

FAROIR Breell a8t T g/ AN WSHHA € HT IFaHFdA|
A 1 &H AT AR vdee e # IRqe g
Fcg Aiedl A TlhT T AT 3=7eFdn|

UV RforaRa #IRe Jeg & gfar gfaieh g smar 2l

oo ®p»

AT Jedt & @ #i9 v, Tl T8 FUAT Fr g &7

1. AB3RD
2. B,CHRD
3. Haa B3R D
4. Had AR B
o
1
2
o
3
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The following statements were made about the alternative pathway of Complement
activation in the immune system:

A. The pathway is initiated when antibodies bind to pathogen.

B. The pathway is initiated by spontaneous hydrolysis of serum Complement.

C. The pathway uses the same C3- and C5-convertases as the lectin
pathway.

D. The pathway can be initiated by properdin and thrombin.

Which one of the following options represents the combination of all correct

statements?

1. AandC
2. AandD
3. BandD
4. CandD

gfotel a7 #, e afFaer & [Feed U & IR 7 @ F39 Fg I

S gfatel Versiedss § HEeY gld § a9 9 e giar gl

Y HRA HARS & FGd: Se3Taed ¥ IRA BT &

Ig 9y fFed 9U arer C3- 3R C5-Feacalst &l 39AET T &l
Y GrRfee AR YIfFSs garT 9N g Fhar gl

oo >

5T Ahedl & @ @i U, Wl W& HUAT & oA & AT §?

1. AFRC
2. A3RD
3. B3RD
4. C3RD
ALy

1
A2y

2

3

A4
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A tetraploid plant (4X = 60 chromosomes) reproduces by obligate apomixis.
However, fertilization of the central cell is required for its proper endosperm
development (pseudogamy). The male meiosis in this plant is normal, giving rise to
reduced gametes. What will be the chromosome numbers in the embryo and
endosperm of the apomictic seeds resulting from pseudogamy?

Embryo = 30; endosperm = 90
Embryo = 60; endosperm = 150
Embryo = 60; endosperm = 90
Embryo = 60; endosperm = 120

B 0 b
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T GO dr (4X = 60 TUE) IfAFed HHISAA GART Folelel FT Bl
Stafeh, sEeh STd sEmIY fasr (el gewe) & fov, #vg Sk & @
T RIS BI &1 3H Y F A IICT FARY &, [T HH A A gIAES
FoId g1 IR oA & Gela®y & IIGIS Al & HUT AR oAy 7
T T FEA FAT g

1. 8T = 30; UTHIY =90

2. ¥UT =60; HUTAY = 150
3. U1 =60; YOIIY =90
4. 30T =60; OTIN = 120
A

1
A2

2

3
My
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The figure below shows the genes (a, b, ¢, d, f, |, m, n) that are expressed in
cell types 1, 2, and 3 because of the concentration of morphogen signaling received
by these cells.

Threshold 2

Morphogen Level

(a6 cffa b c]=[d, bflab, fj[a m, n)[i.m, n)

cell type 1 cell type 2 cell type 3

Which one of the following statements is correct about the pattern of gene
expression induced by the morphogen?

The transcription factor activated by the morphogen has:

higher affinity for regulatory region of a than that of d.
higher affinity for regulatory region of f than that of c.
same affinity for regulatory regions of a and b.

lower affinity for regulatory region of m than that of c.

oy =
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AT =3, S (a, b, ¢, d, f, |, m, n) ST FAFT TFR 1, 2, 3T 3 H 37 FIRAF3T
GaRT UTod TR Hebcdel &l TGl & HRUT HRTFd &1 8, Pl ST ¢

Morphogen Level

L

(a.6.cfa b c]:[d, bffab f]E[L m, nff, m, )

cell type 1 cell type 2 cell type 3

T fawedl & & Pl U, HFRST garT IR SN HfFcafaa & Yt & an
7 Tl 82

IHRST SaRT Aish{Ad Ioi@el HRF .

1. d# g & a% S 87 & §T 3o Sgar @ B
2. ¢ @ o A £ A 87 F T Io dUar @
3. a3R bF AUHS &A1 & T FAA FUAT g T
4. ¢ @& ot A m F S &7 & v e Syar g gl
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Dorsal-ventral patterning in the oocyte of Drosophila depends on the expression of
Gurken. The following events occur during generation of dorsal-ventral polarity.

A. The oocyte nucleus travels to the anterior dorsal side of the oocyte where it
localizes gurken mRNA.

B. Gurken protein reaches only those follicle cells closest to the oocyte nucleus.

C. The protein product forms an anterior-posterior gradient along dorsal surface
of the oocyte.

What would happen if maternal deficiency of gurken occurs?

1.  Dorsal-ventral polarity occurs in the follicle cell layer surrounding the growing
oocytes.

2. Dorsalized follicle cells initiate the formation of dorsal-ventral axis of the
embryo.

3. Absence of gurken leads to repression of the pipe protein in ventral cells.

4. Ventralization of the embryo would occur.

SIAIThal & 3SR # gsa-3reR Yeal, Gurken 9 Iiffeafadd w s #ar g
Yv-3tR Yadl 3cdeed gl & aNTel foloet gear gt g1

A IEHMAFT F Food, HSHRNF F 3T GOT AT F ST § @l T8
gurken mRNA FT FATATHT FIAT &

B.  Gurken &l &del 3+1 IfeehT HIRIPIHT e Tgedl & ST HEHIART & Sogeh
& foecan g g

C. 3R & o6 Tdg W WA 3c91G T -9 JaUral Tl o

gurken T AT FYTAT glet I FIT FIMT?

1. fowfdd & T IsHARFBT & IR % §r i St 7 756-3¢3
gadr gl &l
IeSRIFH el HIRASIT, HUT F Io6-360T 38T & Tefel Hl IRH HXc ¢
gurken HI AR, 30T FRFBT F qBT WS F A7 Fr IR o
ST E

4. UT T 3EIYHIOT Bl

A
1
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Which one of the following options represents a combination of all correct outcomes?
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The table below shows the outcomes of surgical experiments in chick embryos.

Surgical experiments

Outcomes

Early wing bud progress zone is
transplanted to a late wing bud after the
formation of zeugopod

An extra set of ulna and
radius is formed

An extra ZPA is transplanted to anterior
limb bud mesoderm after the formation of
stylopod

Pattern duplication of ulna,
radius and digits occurs

Late wing bud progress zone, after the
formation of zeugopod, is transplanted to
an early wing bud that has just formed
stylopod

Formation of autopod will
be affected

Early leg mesenchyma is transplanted just
beneath the wing AER after the formation
of stylopod

Distal leg structures
develop at the end of the
wing

Aand B
Band D
AandC
Aand D

foveet aforer, ot & 3ot & erca-Rifhcadr vl & aRoTE @ g ¥

T arT §

red-RAfhcahT 9ANT qRUTH
SgEIUlS S & d1g URIEHS 9@ Hpedl | Ioar AR WTd #1 vh
It &7, oo 9@ g # gaRIta | IifaRed woeay 9o &

2

TSNS d0 & a6, U HTaReFd ZPA

T, IeTT AT 3ageh

3adTE Hehel Hegud # YARINT fhar | & Yedl &1 gfaeure
YIS S < 91 fAefad 9@ JHel | RN H T FeAAT
warfer &1, 3ref-3refy Tersels e arelr | g

U% IREHF 90 AFd H TARINd g

g

TSNS doidd & g URTFs I Ug F BR W gy |
AEaH, AER 99 & faeger LT nfa grdr &
FARINT o arr

Pt el A & @l ar v, @l @g) aRonA F 7A@ gear &2

E o N

AR B
B3R D
AR C
AR D
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1. Trophoectoderm
cells

ICM
Active YAP/TAZ

Oct 4 expression

Pluripotency

b & Trophoectoderm
cells

ICM
Active

MST/LATS

Oct 4 expression

Pluripotency

E-cadherin

E-cadherin
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Presence of E-cadherin activates the Hippo pathway in the inner cell mass (ICM).
Experimentally eliminating E-cadherin disrupts both apicobasal polarity and
specification of the ICM and trophoectoderm lineages. Which one of the following

2
QOct 4 expression
Pluripotency
4. |Trophoectoderm

Active
MST/LATS

Oct 4 expression

Pluripotency
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E-FgeRa &1 3ufFyfa 3mals Sifer gegaAr (ICM) 7 ReaY aU Fr Jfshd FIar
gl e dk @ E-¥seRe 1 gee W, M3nuRE gaar dRICM qur
grvaregad dxmafedl #F ARfear aet aifta gidr &1 et atomsit & e
UH H TEAFAT gIIN?

1k Trophoectoderm 2.
cells

E-cadherin

ICM

Active YAPITAZ Active YAP/TAZ

Qct 4 expression Oct 4 expression

Pluripotency Pluripotency

3. Trophoectoderm 4.
cells

Trophoectoderm

E-cadherin

ICM

Active Active

MST/LATS MST/LATS
Oct 4 expression Oct 4 expression
Pluripotency Pluripotency
Al
1
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2
i
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If planaria is cut in transverse, active Wnt signaling in the posterior side of the head
piece is essential for the regeneration of a tail. Students were investigating the role
of gene abc in this process. They find that overexpressing abc in the head piece
blocks tail regeneration. However, overexpressing constitutively active B-catenin
along with abc in the severed head piece allows tail formation.

Which one of the following pathways correctly depicts the role of abc and B-catenin

in planarian tail regeneration?

i abc

|

Wt

l

B-catenin

|

Tail regeneration

abc

Wnt

!

B-catenin

l

Tail regeneration

Whnt

B-catenin

l

abc

L

Tail regeneration

abc

|

Whnt

l

B-catenin

l

Tail regeneration
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T cARAT @Y e yad Hrer 3, Y @3 &

9T HIET H HihT Wnt Hehdd,

YT & YAbeHdd & U Jaeasd ¥ et s& uihar # Sie abc i spfde
@ 9T #R @ A Iepiel 9rar b X @3 & Sl abe $T Afasifdeaida &

=0 JARGIad ¥haT &l Safh, H¢ §U Y WS
p-defaer &1 yfafeafdd & qeo aadr g

#H, abc & TY-HIY Ted THT

fAQ 9ul 7 @ & v, ARAT & Jeo YAveddd # abc AR B-HefAa &
HAST B TE AF F AT 8?
1. abc 2 Wnt
Whnt [3-catenin

B-catenin

l

Tail regeneration

abc

Wnt

!

B-catenin

l

Tail regeneration

Al
A2
A3

Ad

abc

L

Tail regeneration

abc

|

Whnt

|

B-catenin

l

Tail regeneration

Phosphoenolpyruvate carboxylase (PEPCase) is an important enzyme involved in
both C4 and CAM photosynthesis. Given below are a few statements regarding

PEPCase in C4 and CAM plants.

A. Light activates PEPCase kinase in C4 plants.

B. Phosphorylation inactivates PEPCase in C4 plants while it activates the

enzyme in CAM plants.

C. PEPCase kinase gets activated by light in CAM plants.

D. Phosphorylated PEPCase is less sensitive to

malate.

Which one of the following options is the combination of all correct statements?

A, BandC
Aand D
B,CandD
C and D only

03 R ok
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BIERISATAUISEde HIafFdielst (PEPCase), C4 3 CAM gl Yhrer HNuT &
wfFafad Agcaqol teegA &1 C4 3R CAM ditl & PEPCase & aR # ot
o HYA QU a0 §|

A. C4 it & g PEPCase HiSsisl &l Al T 2l

B. WIETHIRTIEUT C4 Gitii & PEPCase &I ATSHT &tar ¢ F€fe Ig CAM
otelf & weoEeA # AfFT FAT T

C. CAM ultii # PEPCase #T3aa], YehTel ART AT &Il gl

D. WiehRiaHd PEPCase, #dT & il &7 §AGT &

=T fawreat & O Fi9 v, T 98 FUAT F IS FrogATEr g7

1. AB3R C
2. A3RD
3. B,C3RD
4. &dd CHR D
A
1
2
3
4
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The figure below depicts the allosteric regulation in the biosynthesis of three
aromatic amino acids- Phe, Tyr and Trp, acting at four major steps catalyzed by
enzymes, CM, AS, ADT and ADH. The feedback regulation and relaxation of
enzyme activities by the end-product amino acids are marked.

Chorismate
{|cm | AS—

Prephenate\\ Anthranilate
\\\ ¢
Arogenate \\ }
“
e
ADT ADH » '
Trp ——
~
~
S ——'I Feedback regulation

4 === = Relaxation of enzyme activity

Following assumptions are made regarding the pool of aromatic amino acids in the
feedback-insensitive mutants of these allosteric enzymes.

A.  The feedback-insensitive mutant of CM will show higher pool of Phe and Tyr.

B. The feedback-insensitive mutant of AS will increase only Trp pool.

C. The feedback-insensitive mutant of AS will show higher pool of Trp, Phe and
Tyr.

D. Infeedback-insensitive mutant of ADH, only Tyr pool is decreased.

E. Infeedback-insensitive mutant of ADH, both Tyr and Phe pools are

increased transiently.

Which one of the following options represents a combination of all correct

assumptions?

1. A,BandD
2. A, CandE
3. B,CandE
4. C,DandE
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A qaleATe, 3 REUel TeargaAl & FfdyfSe-3edd) scaRafal & wiafes

HHAAT FFAl & THE & R H A0 A0

et Rapedt & & #i v, @l T8 @EiFAEr &GS F#ogiar g2

CM & gfagfSe-3rady scaRadt, Phe 3R Tyr & ek g Wafda

AS & wfaqfSe-3rdel scaRadl, $do Trp HHE &I T
AS & Waqe-3radl 3caiadi, Trp, Phe 3R Tyr & 3Taak #Hg Teiid

ADH % 9fagfSe-3riady scaRadt & &aa Tyr weg weam
ADH ¥ wfagfSe-3riady scalact o, gt Tyr 3Rk Phe @y 3reumrl alk

A
FL|
B.
.
HLT|
D.
E.
R T &l
1. AB3RD
2. AC3HRE
3. B,C3RE
4. C,D3IRE
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Following statements are made with respect to polar auxin transport in plants.

A. It proceeds via symplast.

B. Its velocity is faster than the phloem translocation rates.

C. Itis specific for active auxins, both natural and synthetic.
D. Itis mediated by protein carriers on the plasma membrane.

Which one of the following options represents the combination of all correct

statements?

1. AandB only
2. CandDonly
3. B,CandD
4. A, BandD

diel & gdrr feae aRagd & dau & e wu @ av|

Tg ToIad GaRT 3T FadT &l

SHHT T AYATE FAGAROT T & 3w dar g

Ig Wi 3R FRANT St @ =t & fav fafrse g
¥g CelloHAT FBieell W WE agel garT Afead giar &l

oo w>

A TFcal & O #iF v, a3 TE) FUAT F TIST H g2ATar 87

1. had AR B
2. had C3IR D
3. B,C3RD
4. A B3R D
ALy
1
A2y
2
"3
3
Aty
4
Objective Question
104 703604 4.0 1.C

file:///C:/Users/Admin/Downloads/3_Live_LifeSc_E _B2/3 Live_ LifeSc_ E B2 1-145.html 81/125


https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

Adda2477

3/3/25, 1:39 PM 3_Live_LifeSc_E_B2_1-145.html

Leaves can alter the intracellular distribution of their chloroplasts in response to
changing light conditions. Shown below are schematic diagram of chloroplast
distribution patterns in palisade cells of Arabidopsis, in response to different light
intensities, grown in a growth chamber having light source from the top.

Direction of incident light
i
it
Thi
e Upper cell wall Chloroplast Upper cell wall Upper cell wall
— =i 2 .
([eeoae\ [ — [ )
&
0 0
8 Vacuole Vacuole ° @ Vacuole g
E 1
g [ ) 0 0 ]
| S | \ ‘\——/ () .. /..
NIXITY VR "YY Y'Y AN w
Lower cell wall Cytosol Lower cell wall Lower cell wall
A B

Which one of the following combinations correctly matches the chloroplast
distribution with its corresponding light intensity?

1. A= High light; B=Darkness; C = Low light
2. A= Darkness; B= High light; C = Low light
3. A=Llowlight; B= Darkness; C = High light
4. A= High light; B= Low light; C = Darkness

qfer, Sgo TET TeRIer g3t i GfAfhar TaET 39 gRAATH & e HIAPT
faaRor A aRafda &= awdr §1 Affes yerr Naanit S afafear &, S@t wener
Hid aia FeT § IR Fua ¥, aftfg wissi™aw & @ fIRent & giasas
% RO gfawat @ AeeEey R @ AR geiar

Direction of incident light
i
i
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b ) 4 w\ 4
: {8 0
5 Vacuole Vacuole | 0
£ 0 : : ¢ 9
. o) | 9
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AT SISl # A Bl A1 UF, gRAcad AAR0T @ 36 AHJT ThIeT clrgrar

FT Tl % ¥ Ad= F:ar g2

1. A= 389 g B=37¢RT; C = FH T
2. A= ¥HEmT B= {8& Wl  C = &H THa
3. A= FH YU B= 3eRT; C = 9% wHLr
4. A= 3T9F T B= & I, C = 3T
ALy

1

A2y
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The interconversion of fructose 6-phosphate to fructose 1,6-bisphosphate is a
critical step in central metabolism in plants. Followings are certain statements
regarding this interconversion.

A. Phosphofructokinase catalyzes the C6 phosphorylation of fructose 6-
phosphate.

B. Plastid phosphofructokinase is activated by P; while cytosolic
phosphofructokinase is activated by phosphenolpyruvate.

C. Cytosolic fructose1,6-bisphosphatase is strongly inhibited by fructose 2,6-
bisphosphate.

D. Pyrophosphate-dependent phosphofructokinase catalyzes a reversible
reaction of interconversion of fructose 6-phosphate to fructose 1,6-
bisphosphate.

Which one of the following options is a combination of all correct statements?

Aand B
B and D
AandC
CandD

bttt

dtal # e 3UTTErT A, Peachel 6-hivhe S Pacie 1,6-FEniede A7
CRTEIICROT s HAgeaqol =ROT | 39 IeRIFUCRYT & aR # e o Fya

gl

A, GIERIpFEIREAS, FFell 6-BiEhe & C6 BIEHIRAFIOT I 3URT Far
gl

B. od® WiTwIpaciaasl P qakt WfHa gt g oafs St
BIERIBFCIRIZAS BREBSAIAASEac SarT Hishd giel &l

G mﬂww1,a-ﬁwﬁm, PEEE 2,6-REwiEhe ganT yaerdl qae
HefAd g g

D. GIgRIhIEhe-3TAd hiEhIpacldigast, HFcrsl 6-hiehe HT Harersl 1,6-
fSEmIEhe # HARTEITARYT I Ichar JABRT Fr 3aRa war gl

e oot & & #l v, Tl TE FYAT & oA F AT 82

1. A3RB
2. B3RD
3. A3IRC
4. C3HRD
.

1

2
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The following statements are made regarding root-knot nematode infection in
plants.

A. Chemical signals released by the plant roots can induce hatching of the
juvenile nematodes.

B. Mitosis coupled with cytokinesis and DNA endoreduplication is induced
during root-knot nematode infection.

C. Nematodes form syncytial feeding structures by recruiting plant cells.

D. Nematode infections suppress cortical cell growth in plants.

Which one of the following options represents the combination of all correct

statements?

1. AandB
2. AandC
3. BandC
4. BandD

qitft #F Fe-9le A & THAT & IR H e FUA Fp av|

A diul & o & arfad wEfEs dad, R fAAeEt & epea @ aRa
A Tl

B. ®IfIdga-fasnsar 3R DNA 3ia-qaefarere & givaa gy [ermse,
HA-9s @HAUT & e WA g g

C. fawcrs, diul &t IR $r o7clt ganT, sgeheaeh! U7 TTAT S &

D. Tocs d@FavT, el 3 aogdl HIRST Jaa H FH I ol

Tt Rl # & #la v, @l TE FUA & A F TEGT I 67

1. A3R B
2. A3RC
3. B3R C
4. B3R D
Al
1
2
i
3
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4
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Given below are a few ion transport proteins present on the membrane of
pancreatic duct cells.

A. Cystic fibrosis transmembrane conductance regulator (CFTR)
B. Sodium-bicarbonate cotransporter (NBC)

C. K" channel

D. CI/HCOs exchanger

Which one of the following options represents the correct combinations of proteins
located on the basolateral membrane of pancreatic duct cells?

1 Aand B
2 Band C
3. CandD
4 Aand D

ITFATYAT SAforeht HIRAAT HT fFroel W IUFUT F& 3w IRaga WA A

few T g

A. TOffcs wEs@T cdEed aeed &@aHs  (CFTR)
B. WIffuA-sEsEiae FHe=gurel (NBC)

C. K'yume

D. CI/HCOs [afsa#ds

it fadedl & & Sl U, TR Afclr FIRAFET & HaRared Breer
R Rua M=t & geAr F gefar &2

1. A3RB
2. B3R C
3. C3RD
4. AXRD
M
1
2
o
3
4
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Given below are some statements about thyroid hormone biosynthesis in thyroid
gland.

A. An antiporter transports two Na* ions and one |I” ion across the thyroid
follicular cells.

B. Pendrin, a CI'/I" symporter helps I-entry into the colloid.

o

Pendrin, a CI/I” exchanger helps I-entry into the colloid.

D. lodination of tyrosine residue takes place first on the 3" position in the
thyroglobulin protein.

Which one of the following options represents the combination of correct

statements?

1. AandB
2. BandC
3. CandD
4. AandD

UTRizs Ay A, Uiss giAl Sauavor & ar A e Fo wya R aw §)

A. U giderHes, a7 Na* 3maal 3R U |° Hel 1 Arsiiss e Sifuanmt
& IR-UR o ST gl

B. 9f$d, UF Cl/I” TgIHF, HIAes & eI I F YT H FerIar T 2l
9f3a, v ClY/I" Afagas, Fdiss & 36X | & 99T § Fg™Far Hdr gl

D. UG #, a9 Jgol 31 TUTA WX TSI HAAST T HATS=HIaHor
grar &

A et & & #l ar v, @l @@ FYA & A F; gAar g2

1. AR B
2. B3R C
3. C3RD
4. A3RD
M
1
2
3
4
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The following statements suggest the physiological characteristics of the dead
space in respiratory system, alveolar ventilation (the amount of air reaching alveoli
per minute) and respiratory minute volume (RMV) in healthy individuals.

A. The alveolar ventilation is less than RMV.

B. The anatomic dead space can be estimated by the body weight of the
individual.

C. Atrest, the anatomic dead space and physiological dead space are identical.

D. The alveolar ventilation is higher in rapid shallow breathing than that of the
slow deep breathing at the same RMV.

Which one of the following options represents the combination of correct

statements?

1. A,BandC
2. B,CandD
3. CandDonly
4. Aonly

fFT o, Toey At # @HA dF A [d TUT N HIHT JOH, FiowHr
mﬂ(ﬁﬁwﬁﬁﬁﬁmq@ﬁma@sﬂvammm{ﬂmw

& gea &d &l

A, T @ard RMV & &F g g

B. iR 7o vy =aftedl & R & aoia § IegATiad HT ST el B
C. fm w iR g vud 3R #wEH 7a wua & g7 B §

D. U FAE RMV W el Halda, 8 I & & goiall # ofig geehl ard

# O grar gl

e Aedl § O Fi9 v, @l 98 FUAT F AT Fr gATar &2

1. AB3RC
2. B,CHTD
3. @&ada CIR D
4. Had A
o
1
2
o
3
4
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Angiotensin converting enzyme (ACE) converts angiotensin | into angiotensin Il.
ACE inhibitors should not be given to a person with severe loss of blood because:

these will increase renal tubular K* excretion.

these will relax smooth muscles in the arteries.

these will reduce aldosterone secretion and thereby prevent water
retention.

these will decrease renal tubular NaCl and water excretion.

o omp

Which one of the following options represents the combination of correct reasons?

AandC
Aand D
BandC
BandD

Ui =Ea aads TeagH (ACE), Ufaiefags | &I ufasief=a+ || &
gRafdd sar ¥ 3rcafts IFd ¥1a R afdd & ACE HeaAs g1 &l dIigy
FiTh:

Wl

A. ¥ gFEE AfoEER K' 38 @ dar &3

B. I uyHAIT # Rarar ot & RAfder HiEr

C. ¥ TS & FIGUT A Gl ¢ § 3R Hoedsy ol URoT AfFd &l
THa|

D. ¥ gFhrg Afce@R NaCl 3R STl Sedoter I TeT &M

e Awedl & & #i v, @l TE T F FrA ¥ AT §7?

1. A3RC
2. A3IRD
3. B3R C
4. B3HRD
o
1
2
3
4
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The descending phase of the nerve action potential is caused by:

delayed opening of voltage-gated K" ion channels.
rapid opening of voltage-gated Na" ion channels.
closing of voltage-gated Na* ion channels.

D. leaky K* ion channels.

owp

Which one of the following options represents the combination of correct

statements?

1. AandB
2. AandC
3. BandC
4. BandD

dR&T ToRaT as1d &1 3HaUEr Fel fAFT & HROT g &

dleesl-gaRe K* 3+ defeil & feifad Terel &
dredsl-gaRd Na* 3 Aell & caRd go Al
JreeoT-gard Na* 3 dtall & a5 gt 3l
aofiT K* Il JeTell Jl

oo w>

et fEwedl # & @l &1 UF TG FUAT & A F AT 87

1. A3RB
2. A3IRC
3. B3R C
4. B3R D
o
1
2
3
o
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The mechanisms of action of calcitropic hormones are important for understanding
the molecular basis of disease states related to calcium homeostasis.

A. Calcium binding (transport) protein (CaBP) enhances the movement of
calcium from the brush border into the cytoplasm.

B. Receptors for calcitonin are present in the osteoclasts where they increase
cAMP production.

C. Parathormone essentially works independently to mobilize bone mineral, and
never in concert with vitamin D.

D. The major calcitropic hormone, calcitriol, regulates intestinal calcium
absorption.

Which one of the following options is INCORRECT in maintaining calcium
homeostasis?

Aand B
Only B
Only C
CandD

e £0) 0

Ffoogn grafeufd & FefRg W1 aeyqr & 3vas JUR A A & fow
feagie gl o frar & frafaftat ageagt ¥

A &foaar dus (IRag) NA (CaBP) HIASET & 3ieT Jor arst ¥ FHowan
T HTERTAT Je&T Sl &

B. cdleiaa & aer deysisd # 3URUT @19 § T 3 cAMP &7 3cUree
§oT oo &l

C. Y @WAS # 33U el & Tov AT fFada: Fady &9 &, iR
e D & Tt w3 A8 4 T

D. 7Ew HewiRT wal, SRl sifis Howm smiver # fEa
T ¢

A5 [@cdl & @ SiT 91 T Hfeqddy FATRUTT FI §90 W & [{ET F 19d

g2
1. A3R B
2. &ad B
3. &ad C
4 C3HRD
Al
| 1

2
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Sturtevant introduced the concept of recombination frequency-based genetic maps.
Since genetic distances between genes may be underestimated due to the
occurrence of double crossovers, other mapping functions were developed to
provide more accurate estimates. Haldane's mapping function assumes no
interference between crossovers, while Kosambi's mapping function accounts for
interference. The following graph presents the relationship between recombination
frequency and map distance (cM) as proposed by Sturtevant and after corrections
using either Haldane's or Kosambi's mapping functions.

140 4

120 - |

Map distance (cM)
g8 &8 8

F.
o
L

»
[=]
"

o

0 0.1 0.2 0.3 04 0.5 0.6
Recombination frequency

The following statements were made about genetic maps.

A. Line | in the above plot represents relationship between recombination
frequency and map distance based on Kosambi function.

B. The chance of underestimation of map distance increases with increase in
recombination frequency.

C. Genetic mapping proposed by Strutevant assumes complete interference.

Which one of the following options correctly identifies each statement as True (T) or
False (F) from A to C, respectively?

il T
il U8F
Tk T
ET.T

WA
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Normal yeast cells grow at 42°C. Five yeast haploid strains, with independent alleles
of YFG1 having impaired cell growth at 42°C, were isolated and labeled as yfg7ts1
to yfg1ts5. A haploid (yfg1tsT) carrying a spontaneously generated mutation (supT)
at an independent locus was isolated, which can grow at 42°C. Using pairwise
crossing, sup1 was introduced into strains carrying yfg1ts2 to yfg1ts5 alleles. All
these haploids grew at 42°C.

Based on this data, the following statements were made to describe the Sup1-Yfg1
molecular/genetic interaction.

A. Sup1 codes for a protein which, when over-expressed, stabilized mutant
yfg1ts proteins.

B. Sup1 codes for a protein that physically interacts with Yfg1 protein.

C. Sup1 protein upregulates an alternate pathway.

D. Sup1is a nonsense suppressor that restores protein translation in cells
carrying yfg1ts allele.

Which one of the following options represents the combination of all correct
statements?

1. Aand B only

2. B, CandD only
3. A,BandC only
4. A,B,CandD

A A HAF42°C W aftia gichh &) ot 3epfota Aee woiel & YFGT &
T Tl SR 42°C o &fior R e gar § # gUE W oyfglst
yfgits5 ds Tafegd frar sm=r| Fads e W s F@d:Afad 3caRada (sup)
& eTRd & are 3O (yfglts?) T gus far amr S 42°C oy afddd &
FHAT ¥l JIAFAR AfAAT F1 ganer wd g supt @l yfg1ts2 & yfgTts5 Tellel
arel SHEl A SToT I A WY IO 42°C W AT gUl

3 R3S F HUR W, Sup?-Yig1 HTOGH/IHTAAIRNF F=aafshar $i =arear &
T e sy G v

A.  Sup1T& AT & HI3 FAT §, o HI-31f@egesa @ W 3caRadl yfgits

oiéE & R R g
B. Sup?T& WE FI HIs Fdl & of Yig? T & siifdsa: s=a=afsmar
T gl

C. Sup?!WET TH dHhTedsd T F Far &ar gl
D. Sup?1UT® RIS HABRT & S yfgTts Tellel arell HIRABIT F A
efdTest N A-EYI T e B

T Oeal & O Fi9 v gt T FYET F TASS H g2ar g7

. %had A3R B
. %ad B,C3R D
. &g A B3R C
A B, C3R D

B W N =
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Two closely related individuals, suffering from a congenital disease, have several
children. A genetic counselor constructs the following pedigree of the family and
concluded that this disease is caused by mutations in at least two genes.

T .T. ,
(Y X X X JoX JoJ § Vuiu] Iuisln

Further, based on this information, the following statements were made:

A. At least one of the children will not carry any mutations linked to this
condition.

B. The mutations causing this disease are recessive.

C. Atleast one of the mutant genes is on the Y chromosome.

D. Simultaneous heterozygous mutations in the involved genes can cause the
disease.

Which one of the following options is the combination of all correct statements?

1. AandB

2. BandC

3. AandD

4. AandC
TH ST SART ¥ Nifed & afase &0 § daftg «afFaal & # a3 & &
IAATAF FAGHR IRAR A e denael i w@ar F=ar ¢ 3R garar § & g
[T FH F FH a1 ST F 3c9RIIT F FROT g1 gl

1 .T. |
Y X X X JOoI Jo3 § Vil |ululs

TCIEATd 6 JIol & HYUR W A Fua U 71w

FH ¥ &H UH god § 30 TUfF O Gafd S 3caRade ¢l grem|

g A F e IARadA e §

FH W FH TS 3cARadt i Y [OHT R

"iFAfoa Siel 7 wHeaios AvAgedst Scaiadel AT 3cdest FX T o

oo wp

o fadedl & @ i v @l TE FA & oA F A §?

A3R B
B3R C
AR D
AR C

Ll -
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A mutation in a plant gene is female gametophyte lethal. This mutant allele can be
normally transmitted through pollen. However, when transmitted through egg, the
embryos abort, resulting in inviable seeds irrespective of the male allele. A student
harvested the seeds from a heterozygous mutant plant and grew a total of 100
plants. What is the expected number of homozygous plants in this population?

25
50
66
75

Py

U Uey Sl H 3caRads Al graiefde & fov ards gl Ig 39Radl Teler
HHAT: WETHUT GaRT HRd BT §1 STafdh 378 @ Hald gl 9 0T fawher
g STl @ AR 7R welier 3rrdet ey ST 4rem 8| vk faundt & v fvaggas
3cafadt 9 & disr grea fhe 3k e 100 9 30| SH €Y # gHRGIAS
atel it denfaa dear Far geEie?

1. 25
2. 50
3. 66
4. 75
ALy
1
A2y
2
A3
3
Ay
4
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In sesame, the seed coat color is of two types: white or brown. True breeding white-
and brown-seeded plants were reciprocally crossed and the results are given below.

Parents Q White X  Brown d Q Brown X White d'

F1 generation 100% White 100% Brown

v

F2 generation 100% Brown 100% Brown

Which one of the following types of inheritance explains the depicted transmission
of seed color in sesame?

Plastid/mitochondrial gene-mediated maternal/cytoplasmic inheritance
Nuclear gene-mediated maternal effect

Polar overdominance

Incomplete maternal inheritance

G I

fae 7 SISTRoT T A TER & & W@ 3R AR TgT YA e Thg 3R 8
a1 arel 9l IREIRNS 9 § THRA U v 1R 38 gRond d fu v §|

Parents Q White X Brown d Q Brown X White d

F1 generation 100% White 100% Brown
" r
F2 generation 100% Brown 100% Brown
HAAIRRAT & e FRl & & @l @1 v, o d s F @ F we¥a
HeROT $T SITEAT FIT 82
1. AIHASORT S-ACTT ATJeh/HIRAAIEET IHTefaiRIhdr
2. e SiA-AIeTd Al 987
3. edr srfwnRaT
4. I ARG AR
My
1
s
2
oF
3
4
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Based on homology, a protein, CG2024, functions as a homotetramer. The function
of each unit within the tetramer is essential for its catalytic activity. CG2024 protein
has three domains. Domain ‘a’ is essential for tetramerization, domain ‘b’ is essential
for catalytic activity and domain ‘c’ does not contribute to CG2024 function at all.
Three mutations, a*, b* and c* in the ‘a’, ‘b’ and ‘c’ domains of CG2024, respectively,
have been identified. The a* and b* disrupt the function of their respective domains.

Based on this information, which one of the following options correctly describes the
nature of mutations a*, b* and c* (in the same order)?

Dominant, recessive, amorphic
Dominant, dominant, amorphic
Recessive, dominant, recessive
Recessive, recessive, dominant.

- ol

AT & IMUR W T WIS, CG2024, Ueh FHAJSCT HT g HA Ll ¢
TTRT F eI YoAF FHS F FA S IOROMHS dfhaar & fav smaeas
€1 CG2024 918 & ol 9a¥T &1 98¥T ‘2’ Iseddl & fov 3nmaeas &, 9aid b’
3UNcHS FihadT & AT 3maeds & 3R 9T ‘¢ CG2024 &1 & faT #is
TETAAT A8l T &1 CG2024 & ‘a, ‘b’ 3R ‘¢ 9ar=t & Haen: e 3caiaaH, a*,
b* 3R c* N Tga ¥ | a* IR b* TA FeET F FrAt F aifT W 3 F

39 @ & 3UR W e FFedl # @ sl @ wF, scaiads a*, b* AR ¢
(3 %A A) & GHfA T FE AEIT FAT 772

1. 9HE, A9HTET, FEUFH

2. YA, 9HIE, 3w AE
3. 3TYSIET, SHIEr, 9STdr
4. AYHTAT, ITHTAT, THTAT.
1
2
3
4
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The table below lists the food reserves (Column X) found in different algal groups

(Column Y).
Column X Column Y
A Paramylon l. Bacillariophyceae
B. Starch Il Phaeophyceae
C. Laminarin Ml. Charophyceae
D. Chrysolaminarin V. Euglenophyceae

Select the option that correctly matches column X with column Y.

1. Al B-llI C-l
2. AV B-1II C-ll
3. Al B-Il C-l
4. A B-IV c-li

D-IV
D-l
D-IV
D-lI

T ROl A 91T S aTel Wied HUSR (FTFH X) 3R Affesr Aareha a gt

(FTF97 Y) F gAhaey Fr g

TAFH X EAFH Y
A. EREIECIC ' CIECIRE I LaER:)]
B. S I S IHISET
C. AR i ERLE
D. FISEAART v Fae-IETSHT
39 FFoT &1 99 ST A TGFT X FT &TFH Y F 1Y g1 B Far gl
1. Al B-IlI C-l D-IV
2. AV B-lI Cc-ll D-|
3. Al B-lI C-l D-IV
4. Al B-IV C-lll D-Il
Al
1
A2,
2
Ay
3
Aty
4
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Some of the following statements describe nomenclature rules in the International
Code of Zoological Nomenclature (ICZN).

A. If the generic name is of masculine gender, the species name should be of
feminine gender.

B. Aname is to be rejected if it is a tautonym or inappropriately describes a
taxon’'s character.

C. The name of an animal taxon cannot be rejected because it is identical with
the name of another taxon which is not an animal.

D. Even if the taxon concerned is no longer classified as an animal, its name
remains available.

Select the option that includes all statements representing currently accepted
nomenclature rules of the ICZN.

A,BandD
B,Cand D
A and B only
C and D only

PWON =

e $o sy gl arAveUla & RS HI3 (ICZN) # aAmveyfa fFus

Fr sarEar Fa g
A. I T AT GIeesT &1 § a S T A1 FHfERT F1 gl TR e
B. U A IS FX AT SN IS I§ U YeAvead § I Uk Al H

LT Y Ie]UGFd T § SATEAT HT &

C. U ol Al HT AH Il ool fohaT ST Fehal Fdifsh g qER
EFdlT & A S v gl 78 &, & gEe §

D. @ a% f& Iy wafta Sadler v wroft & w0 & i 787 o Sar
ds &Y A& AT 3eeE gl

39 fased &1 T HITAC S add@= # Fiha ICZN & AHdeufa fgat
gl arer |eft el & FiFAfd aar gl

1. A B3R D
2. B,Cc3RD
3. oad A3R B
4. FHad C3IHR D
¥
1
2
3
4
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The following table shows a list of migratory birds coming to India (Column X) and
the region from where they migrate (Column Y).

Column X Column Y
A Black-tailed Godwit I Arctic Tundra
B. Comb Duck Il Iceland or Russia
C. Ruff Il Madagascar and South Asia
D. Spotted Redshank V. Scandinavia

Which one of the following options represents all correct matches between
Column X and Column Y?

1. A-lll,  B-1V, C-1, D-1l
2. A1l B- Il C-1, D- IV
3. Al B- I, C- i, D- IV
4. A-1l B- 1l C-1v, D-1

e aRofl RT3 arer vardT gfeidr (T X) 3R &7 S8l ¥ 9 vard Hd
& (EaF Y)F v g @ geeh B

TIF X TIFA Y
A -2es aieRiE L | s g
B. FHorly sad II. ST AT TH
C. e . | Asmmes 3R gfEor o
D. iR B8 V. | ety

T [Toedl & O &9 a1 U6 TaFd X 3R a9 Y & 78+ g9 agr @aat

&1 galfar g2
1. Al B-1V, B, D- i
2. A-ll,  B-lI, ek D- IV
3. Al B, C- i, D- IV
4. A-ll,  B-1I, C- 1V, D- |
1
2
3
4

Objective Question

122703622 4.0 1.C

file:///C:/Users/Admin/Downloads/3_Live_LifeSc_E _B2/3 Live_ LifeSc_ E B2 1-145.html 100/125


https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

Addae™

3/3/25, 1:39 PM

Objective Question
123 703623

3_Live_LifeSc_E_B2_1-145.html

GET IT ON
Google Play

The table below lists unique structural modifications (Column X) found in various

plant genera (Column Y).

Column X Column Y
A. Phylloclade |. Acacia
B. Cladode Il. Euphorbia
C. Phyllode ll. Pistia
D. Inflated petiole IV. Opuntia

Select the option that correctly matches column X with column Y.

1 A-l B-Il C-lll
2. Al B-ll C-l
3. Al B-Ilv  CAl
4. Al B-Iv  C-ll

D-IvV
D-Iv
D-1I
D-I

A5 aRol gegdt & 9v T arer RAftse TRaArcHs IRadEn (TawE X) 3R
fafdeer argw et (wawer V) @1 gy A B

EIFEH X TEH Y
A. qUTTeT FcieT | Jriaar
B. quiteTad II. gwRTSaT
C. guifer gd 1. fafeear
D. b qoigea V. srrafrer

I [TFeT & I HITAU ST TaFH X &1 TIFH Y & a1y Jgr Hored Hiar g1

1 A-l B-lI C-lll
2 A-ll B-lll C-l
3. Al B-1vV C-l
4 A-llI B-lv  C-ll
o
1
2
o
3
4

D-1vV
D-IV
D-ll
D-1
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Match the insects (Column X) to the insect orders (Column Y)

Column X ColumnY
A | Thrips i Blattodea
B |Lacewings i |Dermaptera
C | Termites i |Phasmatodea
D |Earwigs iv | Thysanoptera
E |Stick insects v |Neuroptera

Select the option that correctly matches column X with column Y.

1. Adii B- iii
2. A-iii B-i

3. A-i B- iv
4. A-iv B-v

C-iv
C-v
C-ii

C-i

D-v
D-iv
D-iii
D-ii

E-i
E-ii
E-v
E-iii

Frel (FAFH X) FT HIc 70T (FAFH Y) & Hd=T Sifae

T X T Y
A | o I | semeifEE
B | Sterda i | sHTeRT
C |dm= li | e T
D | Ferasr V| orEdATeeRT
E |5 $er V| S

37 fOFed &1 T SIS0 I TIFH X H ETFH Y & @Y 987 A 5 gl

1. Adii B- iii
2. A-ii B-i
3. Al B- iv
4. A-iv B-v
ALy

1
A2y

2
A3

3
Ay

4

C-iv
C-v
C-ii

C-i

D-v
D-iv
D-iii
D-ii
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Consider the following statements on patterns in global biogeography.

A.  The endemicity of terrestrial mammal families in biogeographic realms is
greater than plant families.

B. There are fewer mammalian fruit eaters, omnivores, and carnivore species in
Australia compared to other biogeographic realms.

C. Major diversification of modern mammals started only 65-55 million years
ago.

D. On an average, plant species have dispersed much better than mammalian
species across biogeographic realms.

Which one of the options given below contains the correct set of True/False
statements, based on well-established patterns in global biogeography?

1.  A:True, B: False, C: True, D: False
2.  A:True, B: True, C: True, D: True
3. A: False, B: True, C: True, D: False
4. A:False, B: False, C: True, D: True

ARTF STl & ¥t | ot et W e ffs

A, Stasilifos gReT # ey Taaury aRart # faftee srdar aeg
aRart & 3 gl

B. guy Stasitafoen aRersl & qerem o smeeforar & wH womgy, algr, 3K
AEHET FAAURY ST g

C. myfas Taaeual & ey RAfathaRor Fae 650-550 arg a¥ qd g%
3|

D. gﬁ%ﬁﬁﬁﬁﬁmmﬁwﬁmaﬁﬁm
Sarer 3T e W fawaRa gl

A fw arw Repedl 3 @ &l @1 o dRaw Staspie & gEuida Yoot &
YR W T/ FUAT & Tel FH=aT 72

1. A T, B: 3reld, C: G&r, D: 9reld
2. AH@, B: Hl, C: 98, D: ®@&r
3. A:Tad, B: I, C: |gr, D: areld
4. A 7Ed, B: 3rerd, C: Hgr, D: |gr
1
2
3
4
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The following table presents soil formation processes (Column X) and climatic
conditions in which they occur (Column Y).

Column X Column Y
A. Gleization I.  Low rainfall arid climates
B. Laterization Il.  High rainfall or low-lying areas associated with
poor drainage
C. Podzolization lll.  Humid environments in the tropical and

subtropical regions

V.

Cool, moist climates of the mid-latitude regions

1.

2.
B
4.

A-1 B- Il
A-1lI B- Il

A-1 B- IV
A-l B- 1l

C-1

Which one of the following options represents all correct matches between
Column X and Column Y?

C-1Iv
C-1l
C-1Iv

et aroft fger @aTor affasd (F@wer X) AR seary aRfEufaar e @
9T S € (FAF Y), @ g g

TAFH X TAFH Y
A TAHTA l. HH giee YoF STeary
B. oRUEHad Il 39 3 I 7Y Sl § Frafeud
foaer &
C. disSArerHad . 3sorT 3R IUISOT Y& H TG qTATGTor

IV.  HEZ-3reTier geRil T &2, 7 Serarg

& geffar &7
1. Al B- IIl
2. ANl B-ll
3. Al B- IV
4. Al B-lI
1
2
3

C- 1l

Cc-1v
C- 1l
C-1v
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An ecologist calculates the Shannon-Wiener diversity index for an ecosystem with
high species diversity. Which one of the following statements about this diversity
index is INCORRECT?

It increases as species richness increases.

It is maximized when all species have equal abundances.

It is unaffected by the evenness of species abundances.

A low index value indicates dominance of one or a few species.

PO PO

s qIEHr 3=a afa [favar arer v oiday § v daa3-de [fawar
FAHih I AT FT gl e YA A @ Rl v 38 Rfduar gaews &

fow e 82

1. g STl JgRAr g W ¢ el &

2. o« gt Sl i vhEARE SERAT gl § o Ig AfSsas gl gl
3. Ug S YR & FHAWACT aRT Ivshfad B gl

4. U GIHiH H 7PA A, Th A FG Sadl H Jfadr & Ad & &
A

1

A2

2

A3

3

Objective Question

127 703627 4.0 1.C
Populations of two species (A and B) follow logistic growth. The parameter values
for the logistic growth equation are given in the table below.

Species Intrinsic growth rate (r) Carrying capacity (K)
A 2.5 500
B 0.8 1000

Select the option that correctly gives the population growth rate at N = 100 for both
species.

1. Species A= 150; Species B = 82
2. Species A= 200; Species B =72
3. Species A= 250, Species B = 46
4 Species A = 300, Species B = 68
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ar Sirferdt (A 3R B) T Jrrariedl gefrard Jefty &1 3TEor Rl ¢ gefaHd
FEfT FHET & wrEel & A Fee aReft 7 e e g

ST vy Jefer e (1) HRUT &THAT (K)
A 25 500
B 0.8 1000

39 [@Fed & g HfAv S g Jfadt & e N = 100 9T HEF 37 & A&y
T & & &l

1. Sifa A=150; sfad B =82
2. Sfa A=200;sfad B=72
3. Snfa A=250,fa B =46
4. Srfd A =300, Tfd B =68

Objective Question
128 | 703628 40 [1C
Which one of the following scenarios is likely to produce the highest beta diversity

for tree species in a forested landscape?

High gamma diversity, strong dispersal limitation, high habitat heterogeneity
High gamma diversity, weak dispersal limitation, uniform habitat

High alpha diversity, low gamma diversity, strong dispersal limitation

High alpha diversity, low gamma diversity, weak dispersal limitation

B0) B =

fAT aRGRAT & F FIT vF Fead: UF JACOIRT gRT A g&T Sfd & faw
gafed dter fRfydr sco= Fm?

1. 3ea e Ry, Aega Rt @, 3oa agpaare AT
2. 3= Al Rfdudn, FASR e @, vraaAe sehdara

3. 3=d 3o fAfduar s=ge A Rfduar, e Rt dar

4. 3=a o fafduar, =7 wmar Afdyan, FasR R der
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Objective Question

129 703629 4.0 1.C
In the classical metapopulation model articulated by Richard Levins (1969, 1970),
the metapopulation is considered to be a collection of subpopulations occupying
different patches. In this model, we consider the following conditions:

A. Individual subpopulations have realistic chances of both extinction and
recolonization.

B. The dynamics of the various subpopulations should be largely independent.

C. Recolonization of a patch after extinction is mainly through dispersal from the
mainland patch.

D. Population dynamics in the patches of a metapopulation should be highly
synchronous.

Which one of the options given below includes conditions that should be met for a
population to be considered a metapopulation?

1. AandB
2. BandC
3. CandD
4. AandD

Ras afds (1969, 1970), garT @fa IRUR® FRTEARe Alsad # IGFATC @
fafee oty & g arel suwHSCAt &1 vs HIUE AT ST 8| 39 AlseT H gA
A= ol W faar @ &

A. T IUFATCDT # @elua 3R gA:3ufAINF0T a1l HT aredfas
HHATGATT I &l

B. Rfe suwafceat i aifash veg@a: wada gleir @ifev|

C. s & a1 U ${81F 1 A:3UAANHRT AT ATIHA &7 &
afeI9oT Z@RT g gl

D. Us WRUFANE & H&IH H FASE A 3Hcafts HAHIoh gl aifpU|

T U v [eredt &/ ¥ o9 v 39 Tufaal & afFafaa swar ¢ Gas
JIUTeleT Y €1 Ueh SIS T U UREHATSC HIAT STCN?

1. A3RB
2. B3R C
3. C3RD
4. A3RD

1

2

3

Objective Question
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130 703630 40 [1C
The figure below represents a bipartite network of species interactions between two
trophic levels. Each link represents an interaction between a species in the higher
trophic level (A to H) and a species in the lower trophic level (I to P).

Higher trophic level

Lower trophic level

Given below are a few statements describing potential conclusions that can be
drawn from the network:

A.  If the network represents predator species (A-H) and prey species (I-P), then
D is an apex predator.

B. If the network represents plant species (I-P) and pollinator species (A-H),
then species | is more likely to experience local extinction than K.

C. The network is more stable if D is removed and the population size of O
increases.

D

If the network represents frugivore species (A-H) and plant species (I-P),
then M is a keystone species.

Which one of the options given below represents all correct statement/s that can
be inferred from the network above?

1. AandB only
2 A, BandC
3. B,CandD
4 B only

file:///C:/Users/Admin/Downloads/3_Live_LifeSc_E _B2/3 Live_ LifeSc_ E B2 1-145.html 108/125


https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

Adda2477

3/3/25, 1:39 PM 3 Live LifeSc E B2 1-145.html

far [T & divor TR & #7e S1fa 3A-afehar & v v gfavedfi Serad
T ATar &1 TAF FI 3T 9IVUT TR (AT H) F ws ifa 3R e 9wor &1
#F s AOfd (18 P) & ALY U 3AAtHar &1 g2ufdar §1

Higher trophic level

.'f\\l\\“i/ \'f . III'\, \\/"' g .':I/ Illl'l. |
.-'lll %\\;\ | ; //////< f."l \'I'f
/ £l s [
|l.’ J / | I."f /j \\}<\/ \}Ii \
/ s ! /lf*'l/ g »‘/\ \\\\\ I\
/ / [ e I e A
/. / i/— \ \:\ |/ \/ \
—l ——
I i K L M N o P

Lower trophic level

39 el | faehrel ST Hehel arel Heniad farsehst i sarear #@ ardl F© FHyeT

A fgw e §:
A. I Srerdd werel sifa (A-H) 3R ReR siifa (1-P) &t geifar §ar D o
oy aRaredr B

B. 3Ifg Jradd ureq Sfd (I-P) 3R WEIUSRT Afd (A-H) & g2itar § a1 anfa
|, S K T qorell & derad: s T e seea e

c. afg D& gar fear s AR O it Ky F1 HHR ¢ ST A SrerdT
e R g

D. 3Ifg Sroray waselr sfa (A-H) AR aigg sfa (I-P) & gefar § af Mt
T S gl

A BT av el A T FiT U T3 FE FUS/FUAT FT 2T § S IWRFT
Sreidd § A&l ST dhar 82

1. Hhdae AR B
2. AB3RC
3. B,C3RD
4. &ad B
ALy
1
A2y
2
A3
3
4

Objective Question

131 703631 40 [1c
In a paper wasp, a worker helps to raise 4 full-sisters instead of producing 4

offspring of her own. According to Hamilton's rule, will selection favour this

altruistic behaviour in terms of genetic units?

Yes, because 3.0 genetic units are gained and 2.0 genetic units are lost.
Yes, because 2.0 genetic units are gained and 1.0 genetic unit is lost.

No, because 2.0 genetic units are gained and 3.0 genetic units are lost.
No, because 2.0 genetic units are gained and 4.0 genetic units are lost.

PWN =
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Ue O Jadm H, U AHE He 4 Hafaar aa1a 1 Setg 4 QT S8l & e
# Heg A ¢ gffeed & e & AR, AR s & ded A a4
T 3 RIIPRT STIgR HT TASA HM?

1. &1, FIF 3.0 ITARIF Fh$ Ied g5 AR 2.0 IR+ g @ 77|
Z ﬁ,amﬁﬁ:zoaﬂﬂaﬁiﬁmémgémwaﬁaﬁmwém?@
3. g, I 2.0 HIARAF Fhr$ et g% HR 3.0 MIRIR g @ IS
4. ﬂﬁ,ﬁ%2.om§dﬁmsﬁémﬁ3ﬁt4.omﬂﬁmwwﬁl

1
A2y
2
3
Aty
4

Objective Question

132 703632 4.0 1.C
The phylogeny given below depicts the evolutionary relationships and branch
lengths of species found in three spider communities, X, Y, and Z, along with a
table showing their absence (0) and presence (1) in these communities.

Species | X |Y |Z
1 [E] Species 1 ¥
0.5
0.5 1 % Species2 I Ll
1.5
1 E Species 3 2 fane | |
1
1 v Species 4 3 01110
1 1 4 010 1]0
¥ Species5
1 5 010 |0
3 E Species 6
. 6 1 10 |0
[¥]  species7 7 1 {0 |1

Which one of the following options gives the correct values of phylogenetic
diversity for these communities?

1. X=7.0 Y=4.5 Z=8.0
2. X=8.0 Y=6.0 Z2=7.0
3. X=7.0 Y=4.0 Z=7.0
4. X=7.0 Y=3.5 Z=6.0
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A fear I sfaga et AR FHER X, Y, 3R Z & Fes are sy
"etl 3R Sfa @ H oers H gRiar g @y A vh Grol S g et
# 3o argareuta (0) 3Rk suReEfd (1) aidr R

Species | X |Y |Z

1 El Species 1

0.5
0.5 1 _ % Species2 I Ll
1.5
1 El Species 3 2 il bl
1

1 ¥ Species 4 3 01110
1 1 ) 4 0 (0 |0

¥ Species5
1 5 010 (0

3 @ Species 6
3 6 1|0 |0
@ Species 7 ~ 1 1o |1

foet faedt & & @l U 31 THErEl & fav sifagdg fafaydr & fov @€

AT &ar 87
1. X=7.0 Y=45 Z=8.0
2. X=8.0 Y=6.0 Z2=7.0
3. X=7.0 Y=4.0 Z2=7.0
4. X=7.0 Y=3.5 Z2=6.0
Al
1
A2,
2
A3
3
Aty
4
Objective Question
133 703633 40  |1c
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A researcher studying the mating systems in birds (operational sex ratio 1:1) uses
the number of successful matings as a measure of male reproductive fitness and
female reproductive fitness, as depicted in the figure below.

mPOQ

LR

Individual ID

No. of successful matings

Which one of the following options correctly matches P and Q with the correct sex
for different mating systems?

1. Polygyny: P, male, Q, female; Polyandry: Q, male, P, female
2.  Polygyny: Q, male, P, female; Polyandry: P, male, Q, female
3. Polygyny: P, male, Q, female; Polyandry: P, male, P, female

4.  Polygyny: Q, male, P, female; Polyandry: Q, male, Q, female

A AR, v unedf aferdt & @ a9 #1 3rewgs (Ramefter foer segara
1:1) A H A AT ATAT AR AT TSida1d T & [T e HITAT 6
HEAT & TF AT & FT & FART HLar gl

BPOQ

L 1kE]

Individual ID

No. of successful matings

T AFeul # @ Fi9 a1 v PP TrH 337 F Av T &7 F gra Pk
Q & FgT Ao &tar g2

1. g P, 7R, Q, AT, agnﬁ'l?q': Q, 7, P, AT
2. g Q, 7, P AE,  Sgdidea: PR, Q, AR
3. SESHEn P, R, Q, AL, aguﬁa’: P, 7T, P, ATET

4. SgSgEn Q, 7, P, #er, aguﬁﬁ: Q, 7, Q, ATET
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Objective Question

134 703634 4.0 1.C
Consider a predator that can forage on two prey types, where Prey: is the more

profitable prey and Prey: is the less profitable prey. While searching for Prey;, if it
encounters Prey., the decision to capture Prey: or ignore it and continue to search
for Prey1 is given by the predictions of the Optimal Foraging Theory (OFT). The table
below gives various parameters that may be used as per OFT by the predator in
making this foraging decision.

Prey type Energy gained | Handling time | Search time
Prey1 E1 h1 S1
Preyz Es hz2 Sz

Which one of the following statements predicts correctly when the predator should
eat Prey2, given the conditions above?

1. Only when S1 < [(E1hz) / E2] — h1
2.  Only when S1> [(E1hz) / E2] — h1
3.  Whenever Sz< [(E1hz2) / E2] — h1
4.  Whenever Sz > [(Ethz) / E2] — ha

U qarell S e YR & RISR &1 GREE & H@hal §, e R$R-1 3iUs
arrye RIFR § 3R RER-2 &7 omve R ¢ REeR-1 & @ & g afe
Ig RER-2 & IS A Jr § af RPR-2 F gHs T 58 S5 RIPR-1 H:¥
G SR W@l 7 o gsedd arT feuid (OFT) & qaleAel garT f@ar Sirar
¢ F Irol [Affiea Aevs ot & S 9219 OF T & 38R 0 IRT T
& faurr & wenelt carr fhar o d&ar g1

TRIHIT T g Fall yayd TAT | @ 95T
UehTT

RArHT-1 = hi S1

RAFT-2 E: h2 S2

ﬁmmﬁﬁmwaﬁrq@ﬂgmﬂm%mm@rwﬁaﬁﬁﬁ
wHe A NFER-2 FT I =A1Rw?

1.  @had 3 S1<[(Ethz)/E2] - hy
2. &ad A9 S¢>[(Ethz) / E2] - hy
3. Id & S2<[(Eth2) / E2] - hy
4. 9 & S2> [(Ethz) / E2] - hy
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A2
A3
A4

Objective Question
135 703635 40 1c
With reference to the origin of multicellularity in different life forms, which one of the

following statements is INCORRECT?

1. The 'snowflake vyeast' experiment demonstrated the evolution of
multicellularity through cell adhesion and programmed cell death.

2. The syncytial theory states that multicellular organisms arose through the
aggregation of free-living unicellular forms.

3. Cadherin-based adhesion pathways played an important role in the evolution
of multicellularity in plants.

4. Co-option of existing functions is hypothesized to have driven the
evolutionary transition from undifferentiated multicellular clusters to
differentiated tissues.

fafeieet Saer gvel & SEHIRIhaT A1 3eafr & Hael 7 foiest Foal 7 & Hief

Ueh aTeld &7

1. 'RAEFRUT AT TR F FHIRIF HHAA HR ASTAT6eY FIRNAT 7 @RI
SgHITRIHCT & fasra #1 veRkid R

2. Sgeoeh! feua wedm & o ageifhra aoflt fgeasiidr vharfh st
& THAFOT H 3cT Ul

3. ditl & SghIfAhar & fawa # HsgReA-3TRa et w20t 7 v
Fgcaqol A |

4. Taegae yerf & Ag-feed & gart JfaRfed sgaRehe 4o ¥ faafa
Fddl & 3G ARHT HFHACT § IR g1l T aRFeqaAr Hr |

M
1
A2
2
X
3
fa
4
Objective Question
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Evolution by natural selection may produce organisms that are adapted to their
environment. Given below are four statements regarding adaptation by natural
selection.

A. Adaptation implies that organisms are perfectly matched to their current
environment.

B. Adaptive traits have been shaped by natural selection to past environments.
Natural selection is the only process by which adaptive traits evolve.

D. Adaptation to current environments may be constrained by adaptation to
past environments.

Which one of the following options gives the correct combination of True/False

statements?

1. A:True, B: False, C: True, D: False
2. A:True, B: True, C: True, D: False
3. A:False, B: True, C: False, D: True
4.  A: False, B: False, C: False, D: True

STepicieh I E@RT 3efaerd UH Sild 3c9eel #Rcll § Sl H9el draiaRvl & o
Jgiad §1 A WHfas T @RI g & el # UR &y R v g

A.  3EIEHee @ dcad ¢ fo g 3 aaAe ardeaReT § QUi gAfad g
B. 3fejell faIueh fwel aTdraior & Urehfcieh @& & egRT &MU fhe a1e ¢
C. oad UIhids TI & Teh UihaT & fSadh ganr ieqdel [Advsh fasiad

g &
D. T aTdERol & fIU 3ejshele, Yd aTd@ol & foIU Holdhold @Rl
AfAa & da gl

e Asedt # @ FiF TF AT & TE IA FH &1 g2

1 A: T, B: 318, C. |3, D: 3/
2 A: T, B: 9, C. g3, D: 38T
3. A 3HEJ, B: A9, C: 318, D: "™
4 A: 38T, B: 319, C: 394, D: |3
1
2
3
rha
4
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Given below are a few statements.

A. Codominant molecular markers (i) be used for identification of
heterozygotes.

B. Genome wide association studies (GWAS) (ii) be performed on
germplasm with high genetic diversity.

C. An F2 mapping population (i) be used as an immortal
population for genetic mapping studies in plants.

D. Bulk segregant analysis (BSA) (iv) be used for mapping of

monogenic qualitative traits.

Which one of the following options represents the correct sequence of terms to fill
in the blanks in the above statements so that all the statements are true?

1. (i) cannot (ii) can (iii) can (iv) can
2. (i)can (ii) cannot (i) cannot  (iv) cannot
3. (i)can (i) can (iii) can (iv) cannot
4. (i)can (i) can (iii) cannot  (iv) can

A Fo wya e aw g

A, TEUHET 309+ Regdhl & ﬁmgma‘r H ggaeT & fow 3gEer
() " gl
B. Hollel faeqa WIgwd HeAAq (GWAS), 3 3Tefa e Rffiewiar arer Sieteteea
w (ii) ThaT gl
C. diul & weh F2 AT HIEIET, HFARIF A9 HEFTA & AT U I A&y

Fr T (iii) T gl
D. o TAEASTH ARV (BSA), Tsholledl I0McHs AW & A0 & faw
ST (iv) Hehcll g

T [Aoal & 4 Sl v, @rell o9g # I & fav el & T8 A & gfar
& Tag $r goft Fua TEr 8

1. (i) =T & (ii) &7 (iii) & (iv) &
2. (e (ii) TET &Y (iii) #TET & (iv) et 8T
3. ()er (ii) &7 (iif) BT (iv) 8T 8T
4. ()& (ii) &1 (iii) STET & (iv) &
ALy
1
A2y
2
I
3
Ay
4
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A student performed an ELISA to detect anti-ovalbumin IgG in a serum sample. The
experiment involved the following sequential steps: coating plates with ovalbumin,
blocking with BSA, adding serum sample, adding anti-mouse-lgG-HRP, adding Hz02
+ o0-Phenylenediamine dihydrochloride (OPD), and adding HzSOa4. The student
made the following statements:

A. If the plates are not blocked with BSA, the specificity of the assay decreases.

B. If the plates are not washed between addition of serum sample and addition
of anti-mouse 1gG-HRP, the sensitivity of the assay decreases.

C. If the plates are not washed between addition of anti-mouse IgG-HRP and
addition of H202 + OPD, the specificity of the assay decreases.

D. OPD is the substrate for the enzyme.

E. Without H2504, no colour is developed.

Which one of the following options represents the combination of all correct

statements?

1. AandB only
2. BandConly
3. A BandC

4. A, C,DandE

F et F vd @RE S # wE-HaTeiAe IgG #r ggA & AT U
ELISA Tl e # foest %ifs ug arffier & HavedfAa @ colel & oftd
HTAT, BSA § U, TRA A Sl HeATAT, T-F7TH-IgG-HRP &I TASTT, H202
+ -t Tl ASIS3THT SEESSIFaRSS (OPD) & AT, 3R H2S04 FI AT |
faeardt & ot sy Rw:

A. I Toet &l BSA & 3T g fohar ar afieror dr fafdrsear & &
ST Bl

B. IR} wod €A aFx & A 3N T-aua-IgG-HRP &I fAems & dra
weTifere o187 & St & o gferor i gdeaeiear ge S #

C. 3R v TE-AYS-IgG-HRP Fr fAemar 3R H20.+ OPD 1 fAeme & drer
#H geTIfora AT $T AT § ar geqor Hr FdgAderar ge ST g

D. OPD U+a8H & fow fRamem g1

E. 94T H.SO0s & ®IS T AGT aeAaT &

AT Aoreal & & Fi9 v gt I Fua & GAST H gRiar 87

1. odd AR B
2. @Had BIHR C
3. AB3RC
4. ACD3RE

1

2

3
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4.0 1.C
Given below is a list of microbes or their components (Column X) and specific
stains (Column Y) used for their identification.
Column X Column Y
A. | Bacillus subtilis i. | Albert stain
B. | Mycobacterium leprae ii. | Malachite green
C. | Pseudomonas flagella ii. | Lactophenol cotton blue
D. | Volutin granules of C. iv. | Gram stain
diphtheriae
E. [ Cultured fungi v. | Silver stain
F. | Klebsiella capsule vi. | Ziehl Neelsen stain
G. | Clostridium endospore vii. | India ink
Which one of the following options represents the combination of all correct
matches?
1. Ay, C-iii, E-v
2.  B-vi, F-ii, A-i
3. A, B-vi, F-vii
4. E-iii, C-v, D-i
A Sl AT 3oieh AT (T8 X) 3R 3T Tgaid & v ggd f(aRkrse
HIFSTHT (FI#H Y) HT T AT i & = B
FAFH X FdFH Y
A. | dfdere aarefad L | e RS
B. | arsaiediRas &t .| Homprse e
C. | qema s lii. | SerfpaTar @iea s
D. | & R fr delfest s | V- | I sfdiers
E. | gaftta #a+ V. | Rear e
F. | safequer giear Vi. | Sfrer HAreda 3w
G. ; vii. | @ ;
FATLISTH FHewalfem] il | gz g
et Reedl & & @la v a@l G Bae & gaw aF gl 872
1. Ay, C-Hiii, E-v
2. B-vi, F-ii, A-i
3. A, B-vi, F-vii
4.  E-iii, C-v, D-i
My
1
A2,
2
"
3
o
4
40 [1c
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Given below are leaf lengths (in cm) measured from a sample of 15 Dipterocarp
trees

5,6,7,7,8,8,8,9,9, 10, 10, 11, 11,12, 13
What are the mean, median, and mode of the leaf lengths?

Mean - 7.93, Median-7, Mode - 10
Mean - 8.93, Median-9, Mode -8
Mean - 7.93, Median-9, Mode -8
Mean - 893, Median-9, Mode -9

PON =

feeeUsd gefl (15) & U AFs @ AU il &1 oars (Féefer #) & &
=T E

5,6,7,7,8,8,8,909,10,10, 11,11, 12, 13

qﬁ’q‘faﬁ‘raméa:mw,m,magﬂmw%?

1. HET-793, HIEIH -7, sgels - 10
2. HACT-8.93,  HICIH -9, g - 8
3. HAET-7.93,  HICIH -9, g - 8
4, FTET-8.93,  HINCIEH -9, TgeH - 9
1
2
3
4
Objective Question
141 703641 4.0 1.C
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Breast cancer stem cells may be identified by analyzing the CD24/CD44 phenotype
of a breast tumor. CD24/CD44 stained cells were analyzed by flow cytometry and
the analysis is shown below.

Q2

Further analyses of the sorted cells from different quadrants (Q1 to Q4) by
immunoblotting revealed the following results. The dotted lines represent lanes with

negligible signal.

Q1 Q2 Q3 Q4

—_— et e —  S0X2
— — e — | OCT4
— T— — NANOG
-— — — = hTERT
— — — — B-Tubulin

Based on the above results, which phenotype is associated with the maximum
number of breast cancer stem cells?

CD24/CD44"
CD24*/CD44*
CD24/CD44"
CD24+/CD44"

PN =
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Elel & Hel HIRNSIT, Th el 374G CD24/CD44 FETUTHET & faveror & ggared
ST HFAT &1 CD24/CD44 & ARSI HITARIAT ST WaTg I FRARATIT GaRT faeersor
forar arar 3 faeewor & A g T srm)

e aqguisr (Q1 @ Q4) A, IfcRERMVoT garT BIET I8 SRS H1 ged
fareeoT R g weiRta &ar §1 Wied YW F9vg dhd &7 oar & gafdr

gl
Q1 Q2 Q3 Q4
- @ — — | sox2
e— — — | ocT4
m— — - NANOG
] — — —_— hTERT
sy — — | B-Tubulin

39T IROTAT & YR R HleT |1 ALTHET Fad 31F T 6 HoT
FIRFRT T geT &2

1. CD24°/CD44-
2. CD24*/CD44*
3. CD24/CD44*
4. CD24*/CD44-
ALy
1
A2,
2
Ay
3
Ay
4
Objective Question
142 703642 4.0 1.C
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The absorbance values of a dye measured at 600 nm were plotted against its
corresponding concentrations, as given below.

0.8

o
=]
n

e
J’...”
/'./
0=
0 36 91215182124
Concentration of the dye, mM

Absorbance
(=]
-9
| |

e
[X]

Which of the following will be the best estimate of the extinction coefficient of the
compound in M'cm™ units? The path length of the cuvette used for the
measurement is 1 cm.

|

2. 0.033

3. 333

4. 100

5T 3@ & UHh IS & JIMYUT AT T 600 nm H AGT =7 3R TS
ITET WGl & Ty AT A =

0.8
0.6 e
0.4 s
0.2 / g

0«

0 36 91215182124
Concentration of the dye, mM

Absorbance

fart & @ &7, gard & {ea o F1, M-'em! AEBT 7 @ HE Hihol
EINT? AU H YYFd GIOI HI 9 &g 1 cm Bl

1= 8=
2. 0.033
3 12333
4. 100
ALy
1
A2
2
I
3
Ay
4
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A molecule absorbs light at ‘X’ nm wavelength and emits light as fluorescence at 'Y’
nm wavelength. Typically, there is a shift in the wavelength (Y>X). E is the energy
transferred to the solvent during reorganization of the excited state, ‘h’ is the
Planck’s constant, and ‘c’ is the speed of light.

E is equal to:

1. h(Y-X)

2. hc(Y-X)/ XY
3. cY-X)/h

4. c/(Y-X)

TF U, X' nm dERES 9 g HEM®T #ar § AR Y nm dERe w@
TP & a6, THA Seafoid Har gl fARsed:, aeed & fges g &
(Y>X). E, 3fSd @€ & qadies & alre, femrs # gediala Fei 8, ‘h’
Tl FT WRTF ¢ 3R ‘¢’ 9ehrer & afa gl

E fras TA &
1. h(Y-X)
2. ho(Y-X)/ XY
3. c(Y-X)/h
4. c/(Y-X)
Al

1
A2,

2
A3 5

3

Objective Question

144 703644 4.0 1.C
A purified 150 kDa species obtained from a gel filtration column was run on a 2-
dimensional SDS-PAGE as shown below:

+DTT

What is the likely form of the 150 kDa species from this observation?

1. There are at least two proteins that are linked through non-covalent
interactions.

2. There are at least two proteins in the complex that are linked through
covalent bonds.

3. There are two proteins in the mixture without forming a complex.

4. There is only one protein and it has a disulfide bond.
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fart fdw av 2-f3r SDS-PAGE #, Sa fawies &fad ganr gred U& aifad
150 kDa Yfifd &l TSTaT I72T:

SDS-PAGE SDS PAGE

+DTT

3H U&T0T | 150 kDa TSITTa &7 GHATAT §T FIT g2

1. EAST IAATHAINHT G@RT Heldel A @ HH al N &
2. @ #, G 7T €@RT HolvA & A FH & G
3. 39 fAAUT & e de aee e Wi g
4. 3HHA SSHCHISS §Y dTdl hadl T G gl

1

2

3

Objective Question

145 703645 4.0 1.C
Given below are recognition sites of some restriction enzymes with the sites of
restriction marked with a **' symbol.

EcoRV : GAT*ATC Aval :CAYCGRG
Hindlll : A*AAGCTT Sall :G"TCGAC
Smal :CCC*"GGG Xbal :TACTAGA

Which one of the following options represents all enzyme-treated vector (V) and
insert (1) fragment combinations that would generate compatible ends for ligation
without any other intermediate enzymatic treatment?

Hindlll (V) - Sall (I); Smal (V) - EcoRV (1)
Smal (V) - Xbal (I);  EcoRV (V) —Hindlll (1)
Hindlll (V) —Sall (1);  Xbal (V) —Aval (1)
EcoRV (V) — Smal (I); Aval (V) - Sall (1)

08 e
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T N g @ Rifegd Jfddts & Tl aid $& 9faaud TragAl & Yidees
U = fGw v §
EcoRYV : GAT*"ATC Aval :CAYCGRG
Hindlll : AMAGCTT Sall :GATCGAC
Smal :CCC*GGG Xbal :TACTAGA

o edt § & Sl a1 v, Tl T A-39=ERa ags (V) 3R s=ae (1) @vs
geAt # gefar & S R Areredt teenedt 3wER & fer & dua & v
3ol faY 3cdest &I ?

1. Hindlll (V)—Sall (I); Smal (V)—-EcoRV ()
2. Smal (V)-Xbal (I); EcoRV (V) - Hindlll (1)
3. Hindlll (V)= Sall (I); Xbal (V) —Aval (1)
4. EcoRV (V) -S8Smal (I); Aval (V)-Sall (l)
Ay

1
A2

2
i

3
Ay

4
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